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— &7 N2=698
1 24k N3=2106
60
50

10} == 10503.20

R 1= -0.6(14.21) R 1= 3.5(12.34) R 1= 5.2( 9.44) R 1= 7.0(9.21) R 9.0( 7.37)
R 2= 11.6(12.27) R 2= 2.0{12.55) R 2= 6.2(11.45) R 2= 6.7( 8.84) R 2= 7.6(8.63) RZ 9.8( 7.48)
R 3= 10.5(13.03) R 3= 0.0014.40) R 3= 3.3(12.85) R 3= 5.1(9.79) R 3= 6.5(9.39) R 3 8.7( 8.16)
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BE 42

HEPERNELREDNENM RS
B A (%) £ P9 HAAR

ARRRE| BT %2 1 &t )
AMAEE B |BE] f [T & B & [BL] & [FT] B |&8&] &5 [BL] & (3T 1& &%
1 BIEOMNE 2 5 2 3 12§12 2 5 4 1 14 2 4 10 6 26
- 16.7 41.7 16.7 25.0 2.3] 14.3 14.3 357 28.6 7.1 2.8 1.7 15.4 385 231 15 4 2.5
= 1 1 2 1 1 2
'2 SEOME 50,0 50.0 0.4 50.0 50.0 0.2
- 1§ j 5 5 14 12 4 4013 4 10 11 3 31 8 9 24 23 717N
31 EAts M e 12.5 12.5 350 30.0 10.0 7.5 9.7 2.9 323 385 97 6.2] 11.3 12.7 33.8 324 4.9 6.9
3-1d Lol YH 7779138244 90l12 30 61 20 8 [131 [19 51 95 44 12 (221
. 7.8 23.3 37.8 26.7 4.4 16.9] 92 2.9 466 153 6.1| 260 86 231 430 19.9 54} 21.4
19 7pCHoE 161872172075 0[i3 76 31 15 3 |78 |29 34 52 35 8 I8
20.0 22.5 26.3 250 63| 161]| 16.7 2056 30.7 19.2 3.8 15.5| 18.4 21.5 329 222 5.1 15.3
e | 7 2 9 2 201 1 8 5 1 16 8 3 17 7 1 |36
34 R 35.0 10.0 450 10.0 3.8 6.3 6.3 500 31.3 63 3.2] 222 83 41.2 19.4 2.8 3.5
- 2 1 3 1 1 1 2 1 4
4 i 66.7 33.3 0.6 100.0 0.2 25.0 50.0 250 0.4
3 3 3 2 11 7 3 3 15 5 10 6 5 26
5 Loh & 27.3 27.3 27.3 18.2 2.1 13.3 46.7 20.0 20.0 3.0 19.2 385 231 19.2 2.5
1 2 6 3 12 1 2 1 4 1 3 8 4 116
6 shehdl 8.3 16.7 60.0 25.0 2.3 25.0 50.0 25.0 0.8 6.3 18.8 50.0 25.0 1.0
- 1 5 5 2 1 1314 5 3 12 9 10 5 1 25
! L7 il 38.5 38.5 15.4 117 2.4] 33.3 41.7 25.0 2.4] 36.0 40.0 20.0 4.0 2.4
8 FoDy R 16 25 37 24 18| 12016 34 40 23 9 122 32 59 71 47 27 242
13.3 20.8 30.8 20.0 150 22.6] 13.1 27.9 328 189 7.4] 242| i3.2 244 31.8 19.4 11.2] 234
o y 10 14 21 25 35| 105|3 8 8 10 21 |50 13 22 29 35 56 |155
’ RTend 9.5 13.3 200 23.8 33.3] 19.8] 6.0 16.0 160 200 4201 9.9] 84 142 187 226 36.1] 150
j 4 6 8 5 23(8 4 12 6 30 2 10 20 1 53
10 gonyd 17.4 26.1 34.8 21.7 4.3] 26.7 13.3 40.0 20.0 6.0 22.6 18.9 37.7 20.8 5.1

&5 74 102 156 126 73 531 64 111 183 99 47 504 138 213 339 226 120 1035
HEE 138 192 204 237 137 1000 127 220 363 196 93 1000 133 206 328 217 116 1000

B A B (%) LT Hph 4R

RRERE] _ BT T ] aH _
HARE 5 Bile ETE N EFI E1ET B BH| & [ F] @ [o1] € | 55

I $¥hE4F 21 26 28 24 8 |107 19 23 39 19 104 40 49 87 43 12 |21
1.2.3-2.17 19.6 24.3 26.2 224 7.5] 20.2f 18.3 22.1 37.5 18.3 3 81 20.6] 19.0 23.2 31.8 20.4 57| 20.4

I FLHEF 14 30 45 31 4 (124 22 41 76 29 8 1176 3 71 121 60 12 300
3-1d510 | 11.3 242 363 250 3.2 23.4] 12.6 23.3 43.2 16.5 4.5 34.9] 12.0 23.7 40.3 20.0 4.0 29.0

o IFASHF 6 5 16 20 8 | 55 3 4 12 13 4 136 9 9 28 38 12 | N
3-1.4.6 10.9 9.1 201 36.4 14.5 10.4] 8.3 111 33.3 36.1 11.1 1.1 9.9 9.9 30.8 363 13.2 8.8

N &-U%EF 26 39 58 49 53 |225 19 42 48 33 30 (172 45 81 106 82 83 |397
3 89 11.6 17.3 25.8 21.8 23.6f 42.4] 11.0 244 27.9 19.2 17.4| 341} 11.3 20.4 26.7 20.7 20.9 38.4

vVHE R # 7 2 9 2 20 1 1 8 5 1 16 8 3 17 7 1 | 36
3-4 35.0 10.0 45.0 10.0 3.8 6.3 6.3 500 31.3 6.3 3.2] 22.2 8.3 41.2 19.4 2.8 3.5

&8 74 102 156 126 73 531 64 111 183 99 47 504 138 213 338 226 120 1035
H#E 139 192 204 237 137 1000 127 220 363 196 93 1000 133 206 328 217 116 1000

80,

701 — %% nocdos
1 24k N3=2196

60;

90

10 R 1= 7.9(14.15) R 1= -2.8(16.94) R 1= -0.5(15.59) R 1= 3.2(11.04) R 1= 4.7(10.60} R 1= 7.6(9.15)
R 2= 11.4012.41) R 2= 0.8(14.32) R 2= 2.1(12.18) R 2= 3.9(10.08) R2= 5.5(9.28) R2= 7.7(9.13)
3 R 3= 10.5(13.03) R 3= 0.0(14.40) R3 3.3(12.95) R 3= 5.1(9.79) R 3= 6.5(68.39) R 3= 8.7(8.16)
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Erk 43
RENEELNEDLEIN RN )
_ _ B AN (%) &P 9 HR
BRREE IKHEETLTF FELAERELGULF | Z0f
AFER 5 htd HFE |8 |§ $th hFTIE gt im wth BT E |8
1 B OME 5 8 1 1 21 : 6 3 12 114 12 29 6 4 |65
= 23.8 28.6 38.1 4.8 4.8 5.1 16.7 50.0 25.0 8.3 3.6] 21.6 18.5 44.6 9.2 6.2 3.3
- y 1 1 1 1 12 37
2 cEendl 100.0 0.2 100.0 0.3 33.3 66.7 0.2
_ <5 A 5 4 9 3 2| 23 4 8 14 117 17 37 29 13 (1137
§-1 45 M E 21.7 17.4 39.1 13.0 8.7 5.6 14.3 28.6 57.1 4.2] 15.0 15.0 32.7 25.7 1.5 5:‘”7'
3-1d LoKYH 17 31 28 9 2| 877 23 29 12 3 |74 |62 118 181 61 13 |435
19.5 35.6 32.2 10.3 2.3 21.2] 9.5 31,1 39.2 16.2 4.1 22.31] 143 27.1 41.6 14.0 3.0 212§
32 R TOHE 22 11 26 11 4| 74]10 12 15 8 1 |46 |70 74 134 54 10 [342
29.7 14.9 351 149 5.4 18.0] 21.7 26.1 32.6 17.4 2.2 13.9] 20.5 21.6 39.2 5.8 2.9 I7;g
_ 2777 776 4 1} 208 1 4 4 15 |12 19 26 4 1 |62
3-4 B R E 10.0 350 30.0 20.0 5.0 4.9] 33.3 6.7 26.7 26.1 6.7 4.5] 19.4 30.6 41.9 6.5 1.6 3.1
b B 1 2 1 4 1] 4 2 7
4 Li=fend 25.0 50.0 25.0 1.0 100.0 0.3 143 57.1 28.6 0.4
3 4 1 8la 4 3 1 12 |16 20 10 4 50
5 LohyH 37.5 50.0 12.5 1.9] 33.3 33.3 25.0 8.3 3.6 32.0 40.0 20.0 8.0 2.5
21 1 2 2 8 2 2 277177713 15 5 |36
6 shenll 25.0 12.5 12.5 25.0 25.0 1.9 100. 0 0.6/ 56 2.8 36.1 41.7 13.8 1.8
. y 7 9 2 18[37 6 1 1 11 |33 25 15 73
! Lizehdl 38.9 50.0 11.1 4.4] 27.3 b4.5 9.1 9.1 3.3] 45.2 34.2 20.5 3.7
8 £ b B 16 23 26 15 89[10° 14 25 20 7 |76 |73 126 158 80 33 |470
18.0 25.8 29.2 16.8 10.1 21.7] 13.2 18.4 32.9 26.3 9.2 22.9| 15.5 26.8 33.6 17.0 1.0 23.6
. g 6 8 4 7 13| 38[3 & 14 |43 |20 37 56 61 66 |240
9 IRTend 15.8 21.1 10.5 18.4 34.2 9.2 7.0 14.0 16.3 30.2 32.6 13.0 8.3 15.4 23.3 25.4 215 12.0
g 5 2 11 2 2006 5 11 3 25 124 31 30 10 1 |96
10 EobUE 25.0 10.0 55.0 10.0 4.9y 24.0 20.0 44.0 12.0 7.5] 265.0 32.3 31.3 10.4 1.0 4.8
&% 91 106 123 56 35 411 48 76 105 75 28 332 344 483 693 326 146 1992
1:]3$ 221 258 299 138 8.5 100.0 145 229 316 226 84 100.0 173 242 348 164 7.3 100.0
_ _ B AR (%) &R
BRRRE S(EETHF _ FEAERELENT E2L]
AR ® Hstd $FE 8 |E Bt hTE |8 & Srtd T IE |8F
1 THEHEF 3 26 36 13 5 (114 |13 21 22 12 2 |70 [118 113 178 60 14 |483
123-2.7 20.8 22.8 31.6 11.4 4.4 27.7] 18.6 30.0 31.4 1.1 2.9 2111 24.4 23.4 36.9 124 2.9 24,2
I #LHAEF 25 37 39 12 2 (115 |17 32 43 16 3 [111 [102 169 221 75 14 (581
3-1d510 | 21.7 32.2 339 10.4 1.7 28.0] 15.3 28.8 38.7 14.4 2.7 33.4] 17.6 29.1 38.0 129 24| 29.2
I FAZEHRF 8 5 12 &5 535 24 10 1 17 119 19 54 46 18 |156
3-1.4.6 22.9 14.3 343 143 14.3 8.5 11.8 23.5 58.8 5.9 5.11 122 12,2 34.6 29.5 11.§6 1.8
vV EoUARTF 22 31 30 22 22 {127 |13 20 32 33 21 [119 {93 163 214 141 99 {710
..B9 17.3 24.4 23.6 17.3 17.3 30.9] 10.9 16.8 26.9 27.7 17.6 35.8] 13.1 23.0 30.1 19.9 13.9 35.6
VHE & B 2 7 6 4 112 5 1 4 4 1115 [12 19 26 4 1 |62
3-4 10.0 35.0 30.0 20.0 5.0 4.9/ 33.3 6.7 26.7 26.7 6.7 4.5] 19.4 30.6 41.9 6.5 1.6 3.1
&% 91 106 123 56 35 411 48 76 105 75 28 332 344 483 693 326 146 1992
]:t% 221 258 299 136 85 1000 145 229 316 226 84 100.0 173 242 348 164 7.3 100.0
80
- hede
— RELLF N2=
7Oj -_ %m@ N3=1609
60
i \%@
40
N &2 %

20:
R 1= 10.5(13.87)
10 R;= 8.6(11.67)
1 R 3= 10.8(13.05)

(U

R 1= -0.7(13.59)
R 2= -0.5(14.86)
R 3= 0.3(14.48)

E
w o —

5.2(12.18)
1.2(13.20)
3.3(13.01)

5.2( 9.36)
4.4{ 9.58)
5.1( 9.81)

R 1=
R 2=
R 3=

7.3( 8.12) R 1= 9.7(7.66)
4.7(10.31) R 2= 8.3(8.36)
6.6( 9.25) R 3= B.6(8.22)
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Bk 44
EPERE. FENONBREORERE 24 _
AR (%) LR
BT ZXEHELZR PEERR | EBERRE
AEEE = ®rH PTrE |2 |m WwLtH HTIE |8 |5 St &FIE |8
s ot )} 3 2 1 6 1 3 5 2 1 1 1 3 3 8
1 Brzoni 50.0 33.3 16.7 7.4] 9.1 27.3 455 182 3.8l 125 125 3156 31.5 2.6
[ - T 1 1 3
2 cEendl 33.3 33.3 33.3 1.0
e <5 AnE 2 1 3 3 3 8 37774 8 1 3|25
3-1 A A A 66.7 33.3 3.7 25.0 37.5 31.5 2.8] 12.0 16.0 32.0 28.0 12.0 8.0
Ca - 1 4 5 6 15 11 16 22 6 55 6 21 26 10 5 | 68
3-1d Lo<KYH 26.7 33.3 40.0 18.5{ 20.0 29.1 40.0 10.9 19.2] 8.8 30.9 38.2 147 7.4] 21.9
_ r = ) 7 2 7 1 17 16 11 27 5 60 17 11 17 8 53
) 3-2 g emi 41.2 11.8 41.2 59 21.0|] 26.7 18.3 450 83 1.7 20.9] 32.1 20.8 32.1 156.1 17.0
- § 1 2 2 5 4 3 1 1 9 6 4 5 1 16
3-4 R4 20.0 40.0 40.0 6.2] 44.4 33.3 1.1 11.1 3.1 37,5 260 31.3 6.3 5.1
e AE 1 3 1 5
4 Lizfeindl 20.0 60.0 20.0 1.7
L) F 3 3 4 1 i 6 1 1 1 3
5 LomyH 100.0 3.7] 66.7 16.7 16.7 2.11 33.3 33.3 33.3 1.0
j 1 1 2 3 1 6 2 2 1 5
6 ehehi 100. 0 1.2] 33.3 50.0 16.7 2.1 40.0 40.0 20.0 1.6
- ] 3 3 6 11 4 4 19 1 5 3 9
1 L7zemi 50.0 50.0 7.41 57.9 21.1 21.1 6.6] 11.1 556 333 2.9
t) & 4 1 5 1 17 15 17 17 13 3 | 65 12 23 21 10 3 | 69
8 [E>o4 & 23.5 41.2 29.4 59 21.0f 23.1 26.2 26.2 20.0 46| 226] 17.4 33.3 30.4 145 4.3 22.2
S j 2 2 4 3 2 7 7 7 126 6 7 9 10 6 | 38
9 lETemil 50.0 50.0 4.9 11.8 7.7 26.9 26.9 26.9 g.1] 15.8 18.4 23.7 26.3 15.8 12.2
| 2 1 1 4 1 2 4 1 14 6 2 7 2 17
10 EoLYH 50.0 25.0 25.0 4.9 50.0 14.3 28.6 7.1 4.9] 35.3 1.8 41.2 11.8 55
&8 28 29 22 2 81 78 63 97 37 12 287 56 79 101 51 21 31
=4 $ 346 358 272 25 1000 272 220 338 128 42 1000 190 254 325 164 68 100.0
BN AR (%) LFEYEhiR
FRERE|  SEEBBEAR | ZEBRR - EDESE ]
BUABE = WmEd BrE |fiflm ®toe ST E At St ®HFE &
1 $hE4EF 13 7 1 29 29 19 36 8 1193 19 17 23 8 3 170
1.23-2.7 44.8 24.1 27.6 3.4 35.8] 31.2 20.4 387 86 1.1 32.4] 27.1 24.3 329 11.4 43 22.5
I £FLHUEF 9 7 22 22 19 27 7 75 13 24 33 13 5 |88
3-1d510 | 27.3 40.9 31.8 27.2] 29.3 25.3 36.0 9.3 26.1] 14.8 27.3 315 148 6.7 28.3
O IfAERF 2 2 4 5 3 9 1 1119 3 4 10 9 4 130
3-1.46 50.0 50.0 4.9] 26.3 15.8 47.4 53 573 6.6/ 10.0 13.3 33.3 30.0 13.3 9.6
NV &2UGEF 6 9 5 1 21 18 19 24 20 10 | 9 18 30 30 20 9 {107
. 89 28.6 42.9 23.8 4.8 25.9] 19.8 20.9 26.4 22.0 1{1.0 31.7f 16.8 28.0 28.0 18.7 8.4 34.4
vViE R # 1 2 2 5 4 3 1 1 9 6 4 5 1 16
3~4 20.0 40.0 40.0 6.2 44.4 33.3 11.1 111 3.1] 37.5 25.0 31.3 6.3 5.1
&% 28 29 22 2 81 78 63 97 37 12 287 59 79 101 51 21 31
HE 346 368 272 25 1000 272 220 338 129 42 1000 190 254 325 164 68 1000
80— sxEnES N1=6o
— HRERR N2=229
— EHEFR N3=243
70 2O NA=1655
60
20: ~
” S
2 = R 1; -4 1"(12 31;)."-\—--- R 1= 6.5( 9.59) R 1=  8.8( 6.62) R 1= 8.5( 8.08) R 1= 12.4( 8.06)
AN B2 1502.83) R2= 4.B(10.58) R2= 5.9(8.67) R 783 R
1 R 3= 11.1(14.37) R 3= 0.6(14.04) R 3= 5.4(12.90) R 3= 6.9(8.95) R 3= 8.5¢( e b e 540 5.39)
R 4= 10.1018.07) R 2= -0.4(14.69) R 4= 2.7(13.31) R 4= 4.5(10.08) R 4= 5.8(9.56) :
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a8 45
FE-ZMEFREEORERNDMEEDRERE (2K
AN (%) SR
FAREE] BEXES _ EHES 1 mAEEE _
ARER = PE[ P [PFIE [BH| 5 (PL] b [T E [S5| & [PE] F [PF] & | S5
At 3 4 3 1 111 1 4 1 7 1 1 3 1 6
1 BrEend 27.3 36.4 21.3 9| 3.9] 143 143 571 14.3 3.5 16.7 16.7 50.0 16.7 1.0
- 1 1 1 3
2 cEPHE 33.3 33.3 33.3 1.1
_ < ] 3 4 1 811 2 7 2 2 14 1 2 3
3-1 ats e 3.5 50.0 2.5 2.8 7.1 143 50.0 14.3 143] 1.0 33.3 66.7 3.5
_ . g 9 15 20 5 49110 19 18 9 56 6 6 8 1 21
3-1d Lo<YH 18.4 30.6 40.8 10.7 17.4] 17.9 33.9 32.1 16.1 27.9| 28.6 28.6 38.1 4.8 2.4
. ol ] 21 11 24 6 1 63|11 11 7 36 2 2 10 14
-2 mIehdl 33.3 176 38.1 9.5 1.6] 223] 30.6 30.6 19.4 19.4 17.9] 14.3 14.3 714 16.3
_ ] 5 3 2 1 1111 1 3 5 2 1 3
-4 @ R U 45.5 27.3 18.2 9.1 3.9 200 200 60.0 2.5 66.7 33.3 3.5
. g 1 2 1 4 1 1
4 Lizfe i 25.0 50. 0 25.0] 1.4 100.0 1.2
] 3 4 1 812 5 7 1 1
5 Loy 37.5 50.0 12.5 28 286 7.4 3.5 100.0 1.2
g 2 1 1 4 ’ 3 3
6 Ehindl 50.0 25.0 25.0 1.4 100.0 3.5
: i 11 4 3 1814 5 3 12 3 3 1 7
! Laeidl 6.1 222 16.7 6.4| 33.3 41.7 25.0 6.0 42.9 42,6 14.3 8. 1
L) 16 17 15 12 2 62|16 9 18 7 2 37 3 7 7 2 1 20
8 EooYH 25.8 27.4 24.2 19.4 3.2 220l 16.2 243 351 189 54| 18.4| 15.0 35.0 350 (0.0 50| 233
< 4 4 7 6 6 2712 1 4 2 1 1 1 3
? FTend 148 14.8 259 222 22| 9.6l 22 111 4.4 2290 45| 33.3 33.3 33.3] 3.5
10 Eoh yYm 6 3 4 1 1417 5 5 1 18 3 1 4
42.9 21.4 28.6 1.1 5.0/ 38.9 27.8 21.8 5.6 9.0] 75.0 25.0 4.7
&5 85 n 82 34 10 282 45 59 60 31 6 201 21 21 37 5 2 86
l:t $ 30.1 252 281 121 35 100.0 224 294 299 154 3.0 100.0 244 244 430 58 23 100.0
U AR (%) EFiYihig
AEEE __ FERE | EMES | BHES il
BUAFE = (Pt P [FF[E | &5t & [Pl R [PF| E | B | & [PLE] D [PF| & |BE
1 ¥iBkF 36 20 30 8 1 95 16 17 14 8 55 6 6 14 1 27
1.23-27 1 37.9 211 316 8.4 11| 33.7| 29.1 30.9 25.5 14.5 21.4] 22.2 222 519 3.7 31.4
I £LHEF 18 22 25 6 | 19 29 23 10 81 10 6 9 1 26
3-145.10 | 25.4 3.0 352 8.5 25.2| 23.5 358 28.4 12.3 40.3] 38.5 23.1 346 3.8 30.2
oI IFAZELF 6 5 3 1 1 16 1 2 7 2 2 14 1 ] 7
3-146 3.5 _31.3 18.8 6.3 63 57 7.1 143 60.0 143 i43] 70| 14.3 85.7 . 8.1
NV &-UGF 20 21 22 18 8 |89 8 10 13 11 4 | 46 4 7 7 3 2 123
8.9 22.5 23.6 247 20.2 9.0l 316l 17.4 2.7 28.3 239 8.7 22.9| 17.4 30.4 30.4 13.0 871 267
VE B 5 3 2 T R 5 2 3
3-4 45.5 27.3 18.2 8.1 3.9 200 20.0 60.0 2.5 6.7 33.3 3.5
&8 8 T 82 34 10 282 45 59 60 31 6 201 21 21 37 5 2 86
ﬂ;$ 30.1 252 29.1 12.1 35 1000 224 294 299 154 30 1000 244 244 430 58 23 100.0
80;
1— wx@Es m=220
— Zf#ER N2=163
70_ — BAEE N3=68 %/
* \\J k\\%‘\»w\,\/
20
10 R 1= 12.7(11.78) R 1= 2.9(12.28) R 1= 5,5(10.33) R 1= 6.7( 8.38) R 1= 8.4( 8.37) R 1= 10.0( 7.34}
R 2= 11.1(13.32) R 2= 0.2(11.73) R 2= 6.1(12.21) R 2= 6.1(9.85) R2= 7.7( 7.88) R 2= 9.6( 7.83)
q R 3= 11.2(10.26) R 3= -0.6{14.25) R 3= 4.5{(10.37) R 3= 6.3(8.32) R 3= 6.1( 8.84} R 3= 10.1( 6.30)
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art 46
FX-ER-ZMEFREOEEILDN#EDRERFEH(2H)
BE U AS (%) EFEEhER
SHEREE __ REEE 1 EEES | EMES _
ARER & Pt P [pFl E | SH| S [RE[ F [FT][ E B & [FE] & [F[ & | &5
1 B BmE 1 2 3 1 711 1 1 3 6 1 1 2 1 5
= 14.3 28.6 429 14.3 3.1 16.7 16.7 16.7 50.0] 23] 20.0 20.0 40.0 20.0 3.4
. - ) 11 1 3
z cEPHE 33.3 33.3 33.3 1.3
e <5 pE 2778 83 2 6 6 2 {9 5 171778
3-1 485 3l 33.3 50.0 16.7 2.7 15.8 10.56 31.6 31.6 10.5 7.4 12.5 62.5 12.5 12.5 5.4
Tl . ] 7 11 16 5 39(3 15 22 7 5 52 7 13 14 6 40
3-1d Lo<YE 17.9 28.2 41.0 12.8 17.3 5.8 28.8 42.3 13.5 9.6 20.2] 17.5 32.5 350 15.0 21.2
e - = j 15 10 22 5 1| 5313 7 15 6 41 |7 7 5 5 24
3-2 e E 28.3 18.9 41.5 9.4 1.9 23.5] 31.7 11.1 36.6 14.6 16.0f 290.2 29.2 20.8 20.8 16.3
o =) f 4 2 1 715 3 3 12 1 1
} -4 @ ' M 57.1 28.6 14.3 3.1] 417 250 250 83 4.7 100.0 0.7
e 1 1 2 1 4
4 Lizfe i 25.0 50.0 25.0 1.8
g 3 1 1 51 1 1 3 2 5 7
5 LomyH 60.0 20.0 20.0 2.2] 33.3 33.3 33.3 1.2] 28.6 714 4.8
] 2 1 3 2 2 1
6 Ehenil 66.7 33.3 1.3 0.0 40.0 200 1.9
: | 9 2 3 14 4 3 7 3 4 3 10
7 Lzl 64.3 14.3 21.4 6.2 57.1 429 2.7] 30.0 40.0 30.0 6.8
) 13 13 11 11 2 50{12 21 20 9 2 64 6 7 12 6 1 32
8 [Eo2YH 26.0 26.0 22.0 220 4.0l 22.1] 18.8 32.8 31.3 141 31| 249/ 188 21.9 375 8.8 31| 21.8
S j 3 2 7 6 6 2416 7 9 7 6 35 2 1 1 2 6
9 FTesd 12.5 8.3 29.2 25.0 25.0 10.6] 17.1 20.0 25.7 20.0 1.1 13.6] 33.3 16.7 16.7 33.3 4.1
10 b yYH 5 2 3 1 1113 2 6 2 13 4 5 4 1 14
45.5 18.2 21.3 0.1 4.9] 23.1 15.4 46.2 15.4 5.1} 28.6 35.7 28.6 1.1 9.5
S8 66 49 69 32 10 226 47 63 87 41 19 257 33 43 46 21 4 147
H:$ 29.2 21.7 305 14.2 44 1000 18.2 245 339 160 74 1000 224 29.3 313 143 2.7 100.0
B A B (%) SFHShE
FETRREERE __ FZES 1 EEEE 1 =NES i}
B AR = |PE[F [PF| & At & [PE] & [T B |S5t| = [PE[ B [FF] E | &F
1 4847 26 15 28 7 1 77 14 12 19 6 3 | 54 1 12 10 6 39
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80,
“‘%? N1=91
TO — &3 Ne=s5
""" 214k N3=2196
60
50
40
30\ e
20 s
101 n= s603.30) R 1= ~7.0(18.35) R 1= -4.3(15.13) A= 1.7(10.75) Ri= 1.7(11.21) Rits  6.4( 8.42)
R 2= 10.0(12.67) R 2= 0.5(15.08) R 2= -0.7(13.24) A= 2.6(11.22) R 2= 5.4(10.39) R 2= 6.7(10.27)
T R 3= 10.5(13.03) R 3= 0.0{i4.40) R 3= 3.3(12.95) Ad=  5.1(9.79) R 3= 6.5(9.39) R 3= 8.7{ 8.16)
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B 52
EEEEO TELVFOAMES T _
B AR (%) ST ihig
ERRE| BF _ xF 1 &
AR B P[P [bF[E | S5 | = [t P [hTF[ B[S & [P DT[] & [
« e 3 B 1 1 6 1 9 1 i 6 1 9
1o BrRrE Il 86T 10 1.8 IR IO N AL IS I 3.4
2 TEPHE
ey - R R R T i 2 I T N T R
‘3_ 1 R 13,3 40,0 26.7. 20.0) 6.4 50.0.50.0 6.7 118412204 17.8] 6.4
e . 7 6 8 11 10 2 37 1 4 2 7 & 9 15 12 2 | 44
_3_ td Uo(HZ 16.2  21.6 29.7 27.0 5.4 15.8 14,3 57,1 28.6 23,31 13.6 20,5 341 27,3 4.5] .18.7
. © 3 A 9 3 9 10 1 32 1 1 2 9 310 10 2 | 34
3 2 " IeRE 281 8.4 281 3.3 31| 137 30,0 50.0) 6.7] 265 8.8 294 294 58] 12.9
- p s 12 2 3 8 1 2 2 3 8
3 ¢ BB E 12,5 25,0 25,0 37.5 3.4 12,5 25.0 250 315 3.0
- 4 1 1 1 1
"' LEEDE 10,0} ..0.4 100.0] 0.4
’ - 2 1 3 1 1 2 2 2 1 5
. 3 LomrhE 66.7 33.3 1.3 50.0 50,0 6.7 40.0 40.0 20.0 1.9
- 2 2 4 8 1 1 2 2 3 4 1110
.__.6 ahenl 2.0 25,0500 3.4 50.0 50.04....6.7].20.0 30.0..40.0. 10.0f 3.8
3o o 2 2 4 2 2 4
! Lo 50.0 50.0 1.7 50.0  50.0 1.5
7 9 9 21 14 8{ 6t 4 1 3 8 9 13 22 17 8 |69
8 XoDobhE 14,8 14,8 34,4 23,0 131 26.1 50.0 12,5 37.5 26.7] 13.0 18.8 31.9 246 11.6 26.1
-+ 3 o 1 3 6 10 13 15| 47 i 1 3 |5 3 6 11 14 18 | 52
9 [ETPrE 6.4 12,8 21.3 27.7 31.9 20.1 20.0 20.0 60.0 16.7 58 11,5 21,2 26.9 34,6 19,7
w0 2 4 3 9 2 2 2 6 3 11
10 EFo50H 22.2 44.4  33.3 3.8 100.0 6.7] 18.2 54.5 27.3 4.2
&8 37 33 72 62 30 234 512 8 5 30 37 38 B84 70 35 264
Lt $ 158 14.1 30.8 265 128 100.0 16.7 40.0 26.7 16.7 100.0 14.0 144 318 26.5 133 100.0
B AH (%) EFHERIR
BAEERE B¥ 1 xF I S5t _
AR B |FL[ P [PF[E [t | & [P P [FF[E [EEt [ & [t] & [F| B | &5
| TARBRF 12 6 15 11 1] 45 1 1 2 12 6 16 1 2 | 47
1.2.3-2.7 26.7..13.3 33,3 2.4 2.2 19.2 50.0 50.0 6.71 25.5 12.8 34.0 23.4 4.3 17.8
I FLHRF 10 B 16 13 2 | 49 1 7 3 1 10 9 23 1§ 2 | 60
3-1d.5.10 20.4 16.3 32,7 26.5 4.1 20.9 9.1 63.6 27.3 36,71 16.7 15,0 38,3 126.7 3.3 22,7
miFAZRF 2 2 8 8 4 |2 2 1 i 4 2 210 9 5 | 28
3-146 8.3 8.3 33,3 333 18.7 10.3 50.0 25.0 25,0 13.3 7.1 7.1 3.7 321 17.9 10.6
NV E-URF 12 15 3t 21 23 |108 4 2 4 3] 13 1219 33 31 26 121
8.9 1.1 13,6 287 250 21.3 46.2 30,8 15.4 30.8 231 43.3 9.9 157 271.3 25,6 0.5 45.8
Vi B’ OB 1 2 2 3 8 1 2 2 3 8
3-4 12.5  25.0 25.0 37.5 3.4 12.5 25,0 25.0 37.5 3.0
&E 37 33 12 62 30 234 5 12 B 5 a0 37 38 B84 70 35 264
tt $ 15.8 14.1 308 265 128 100.0 16.7 400 26.7 16.7 100.0 14.0 144 318 265 133 100.0
80;
1— = n=ine
70— =7 n=22
i 24k N3=2196
60;
50
40
300y
20
10 1= 8.2(13.77) R 1= -4.9(18.15) 1= 0.0(16.41) R 1= 2.6(11.70) Ri1= 3.2(11.86) A1=  7.0( 9.28)
R 2= 11.7(16.78) R 2= -3.4{18.45) R 2= ~2.7(14.64) R2= 1.0{ 9.89) R2=  2.9(10.38) R2=  4.0(11.20)
3 R 3= 10.5(13.03) R 3= 0.0(14.40) R3=  3.3(12.95) R3= 5.1(9.79) R3= 6.5(9.39) R3= 8.7(8.18)
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BHE 53
REDENFLETERVFOARS )
B AR (%) EF YRR
BHREE EENZVF _ REDTEENTF ] Z0t
AR = Pt b BT E [SF| & Rt 7 T E [HF| & d+L p BT E | 8§
s 5 1y 2 3 5 2 12 1 1 2 17 17 37 9 4 84
1 BEPDE 16,7250 41.7 16.7]..3.6 50.0..50.0 1.2].20.2 202 440 107 48] 33
” y 1773 i 5
2 CEPNY 200600 20.0 0.2
- <5 Ay 2 2 7 7 1 19 1 1 2 2 6 200 20 42 31 12 {125
31 I£25 & 10.5.10.5 36.8 368 53] 58 16.7.16.7..33.3 33.00 3.6l 16.0 16,0 336 248  9.6f 53
- . I 10 22 33 5 3 7315 8 10 6 4 33 71 142 195 7111|480
-1d Lo<KhE 13.7.30.0 45,2 68 41| 207 157 242 303 18,2 1214 20.0| 145 29.0 398 145 2.2] 209
- . E 17 18 22 8 1 664 2 7 6 19 81 77 146 59 14 377
32 mIvhE 25.8 273 33,3 2.0 1.50..19.60 201105 36.8 31.6 11.51.21.5..20.4 38.7 156 3.70 169
- v = 2 5 5 1211 4 3 1 9 16 18 28 11 3 76
"R 16,7 417 8.7 3.6] 10,0 44,8 333 11 5.5(.21.1..23.7. 368 145 39| 34
= f= Ay 2 2 1 1 1 1 4 2 1 9
4 LEERE 100.0 0.6 100.0) 08| 1.l 1t a4e 222 11.1] 0.4
) 4 5 1 10{1 2 1 2 6 8 21 11 4 54
; LombE 400 50.010.0 3.0] 16.7..33.3 16.7 333 3.6].33.3 389 204 7.4 2.4
7 1 2 3 1 1 1 3 4 1 13 18 4 40
6 ThehE 33.3 66.7]...0.9 33.3..33,3 33.3) 18] 10,0 2.5 32,5 5.0 10.0] 1.8
. 7 10 5 2 1711 1 1 3 32 35 16 83
! L ek 5.8 29.4 11.8 5.0/.93.3. 333 3.3 1.8].38.6. 42.2 19.3 3.7
8 F>-2nHE 14 19 22 8 3 661 7 16 13 6 43 84 137 171 93 40 (525
= 21.2..28.8 33,3 2.1 450 196 2.3 163 372 30.2 14.0| 26.1| 16,0 26.1 32.6 17,7 T.6] 235
5 ) 5 12 6 7 8 38(2 6 7 8 7 30 22 33 54 66 78 253
) FTemi 13:2. 3.6 15.8 18,4 2.1} 11.30 6.7 200 23.3 267 23.3] 18,20 8.7 13.0 2.3 261  30.8] 11.3
y 9 5 4 1 191 1 4 4 10 256 32 44 10 1 112
0 ¥-o50% 474 263 211 5.3 5.6| 10.0 10.0 40.0 40.0 6.1 22.3 286 393 8.8 09| 5.0
&&t 15 97 109 36 20 337 16 3 5 45 21 185 392 537 761 375 168 2233
b3 223 288 323 107 59 1000 97 194 309 273 127 1000 176 240 341 168 75 1000
S AR (%) EF SRR
R REDQEWNTF REDTEELF ZT O
BEARE m Pt B PAFE || B PE h pFE [SFH|E PLE B BF E |FEH
| T&BRF 29 260 29 8 3 195 5 3 8 8 24 1131 132 199 69 18 |549
1,23-27.1 305 27,4 305 84 32| 282| 208 12.5 93.3 33.3 14.5] 23,9 24.0 362 12.6 3.3 248
I Z2UHEF 23 32 38 6 3 1102 71 15 12 4 1 49 114 195 250 85 t2 1656
3-14510.] 22,5 3.4 373,59 29| 30.3f 143 224 306 245 6.21 29.7) 17.4 29,7 381 13.0 1.8| 29.4
I FA ZmF 2 3 9 7 3 124 1 2 3 4 110 25 22 5% 51 17 174
3-14.6 83125 375 29.2. 1251 7.1 10.0..20.0. 30,0 40.0f 6.3l 14.4 12.6 339 29.3 9.8] 7.8
WV &oURT 19 3! 28 15 11 |104 3 13 28 A 13 173 |106 170 225 159 118 |778
8.9 163298 269 144 10.6] 30.9) 4.1 17.8 315 288 17.8| 44.2]| 13,6 21,9 289 204 15| 3438
ViE R R 2 5 5 12 1 4 3 1 9 16 18 28 11 3 |76
3-4 167  41.7 41.7 3.6] 111 444 333 10 5.50 211 28.7 368 145 39| 3.4
&8 75 97 109 36 20 337 16 32 6t 45 21 165 392 837 761 375 168 2233
B 223 288 323 107 59 1000 97 194 309 273 127 1000 176 240 341 168 75 1000
80,
1— kB N=268
70— m&2 0 w=132
1™ Zofs N=1798
40 \::x
30\\._,'——“"\’\’4 \wtg;:; &g
10] 7= 1140a89) Ri= 1.3012.74) Ri= 6.5(10.90) Rtz 7.8(6.02) Ri= 8.9( 1.67) A= 10.6( 7.85)
R 2= 7.7(16.38) R 2= -2.3(15.90) R2=  0.4(14.71) A 2= 2.8(11.06) R 2= 3.1(10.39) R2=  7.4(10.70)
1 3= 10.6(12.47) R 3= 0.0(14.50) R3= 3.1013.01) R 3= 4.8( 9.86) A 3= 6.3( 9.47) 3= 8.6( 7.95)
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wE 54
HEDZEVNFOHER AR N )
B4 A M (%) T 198
EHRERE BF o [ BEt i
AR m |PE[ B [FF[E B8 5 [PE[ P [FF[ B (S| & [BE] & |+TF] & | &
S 1 3 2 2| 8 3 4 2 3 5 2 |12
! srEpnd 125 315 25.0 25.0] 3.9 250 75.0 3.0] 16.7 25.0 41.7 16.7 3.6
2 SEOHE
s 3 A 2 1 7 & 117 1 i 2 I Y B B I T
3-1 E4t5 il 11.8 5.9 41.2 363 59 8.3 50.0 50.0 1.5} 10.5 10.5 36.8 36.8 5.3 5.6
- todt 6 12 18 2 2| 4o[4 10 15 3 1 |83 |10 22 33 5 373
3-1d Lo<KWd 15.0 30.0 450 650 50| 19.6] 12.1 30.3 455 91 30| 248/ 13.7 301 452 6.8 4.1[ 21.7
- L 13777 0 3 38l T2 287117 18 22 8 1 |66
3-2 woend 342 728.9 26.3 7.9 26| 18.6] 14.3 250 429 17.9 21.1] 26.8 27.3 333 12.1 1.6] 19.6
- y 1 1 3 51142 7 275 s 12
i 3-4 Rl 20.0 20.0 60.0 2.51 143 571 28.6 5.3] 16.7 41.1 41.7 3.6
e 2 2 2 2
4 Lt ®l 100.0 1.0 100.0 0.6
) 2 21473 8 45T 10
3 Londd 100.0 1.0] 50.0 37.6 12.5 6.0] 40.0 50.0 10.0 3.0
y 1 1 1 112 1 2173
6 Thend 100.0 0.5 50.0 50.0 1.6 33.3 66.7 0.9
: y 4372 olg 2 8 105 2 17
! Lisehdl. 4.4 33.3 22.2 4.4] 75.0 250 6.0] 58.8 29.4 11.8 5.0
y 107727711 4 3] a0l 7 11 4 26 |14 19 22 8 3|66
8 [E>2Y % 25.0 30.0 27.5 10.0 7.5] 19.6f 15.4 26.9 42.3 16.4 19.5] 21.2 28.8 33.3 12.1 4.5] 18.6
- y 5 11 5 5 8] 34 11 2 4 5 12 6 1 838
’ FTemni 14.7 32.4 14.7 147 23.5| 16.7 250 25.0 50.0 3.0] 13.2 31.6 156.8 18.4 21.1 1.3
y 5 1 2 gl4 4 2 11 9 5 4 1 19
10 EobYH 62.5 12.5 25.0 3.9/ 36.4 36.4 182 6.1 8.3} 47.4 26.3 21.1 5.3 5.6
SE 47 57 62 20 18 204 28 40 47 16 2 133 75 97 109 36 20 337
HE 230 279 304 9.8 88 1000 211 300 353 120 1.5 1000 223 288 323 107 59 1000
AN (%) L TR
BAEEE BF T xF T Bt _
B = (pE[ o [PF[E | B & |wE] & |wF|E |Gt & [FL] P [RF] E | &F
1 $hBhT 18 17 14 3 3|5 |11 98 15 5 40 [29 26 29 8 3 |95
123-21 32.7 30.9 26.56 5.5 5.6] 27.0| 27.56 22.5 315 2.5 30.1] 30.5 27.4 30.5 84 3.2| 28.2
I £CHAEF 11 15 20 2 2|50 |12 17 18 4 1 |52 [23 32 3 & 3 [102
3-1d510 | 22.0 30.0 40.0 40 40| 245] 231 327 346 77 1.9 39.1] 225 31.4 37.3 59 2.9} 303
O FAEREF 2 1 9 6 220 2 1T 1 {4 |2 73 79 77 3
3-1,4.6 10.0 5.0 45.0 30.0 10.0 9.8 50.0 25.0 25.0 3.0] 83 125 37.56 20.2 12.5 1.1
N ESURE 15 23 16 9 1174 |4 8 12 6 30 |19 31 28 15 11 |104
8.9 203 31.1 21.6 12.2 14.9] 36.3} 13.3 26.7 40.0 200 22.6] 18.3 20.8 26.9 14.4 10.61 30.9
VE B H 1 1 3 5 |1 4 2 7 2 5 5 12
3-4 20.0 20.0 60.0 2.5] 143 57.1 28.6 5.3] 16.7 41.7 41.7 3.6
&% 47 57 62 20 18 204 28 40 47 16 2 133 75 97 109 36 20 337
HE 230 278 304 9.8 88 1000 211 301 353 120 1.5 1000 223 288 323 107 59 1000
80;
J— BF M=158
— ZF N2=110
70 """ 24 N3=2196
60
90;
20
‘]G R 1= 11.3(14,13) R 1= 0.6{13.29) R 1= 6.2(11.39) R 1= 7.5( 8.32) R1= 8.7( 8.31) R 1= 10.5( 8.29)
R 2= 11.7(15.44) R 2= 2.4(11.89) R 2= 6.9(10.18) R 2= 8.1( 7.60) R2= 9.1(6.38) R 2= 10.7( 7.19)
3 R 3= 10.5(13.03) R 3= 0.0(14.40) R 3= 3.3(12.85) R3= 5.1(8.78) R 3= 6.5( 9.39) R 3= 8.7( 8.18)
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BE b5
REDTEHNFOAES T )
B A3 (%) E TR
BREE] B¥ 1 =7 1 &t
AR =Pt P [pF[E | S| S [PE[ F [FF| B[S & [FE[ & [RF[E [&F
oo 71 1 1 1 1 z
! BEPNE 190,90 1.2 100,0 1.2 50,0 50,0 A2
2 TEPHE
i o 1 27T i 172 o 2 T2 TR
-1 EALHE 2.0 50.0..25.0] 4.9 50,0 50.0) . ..2.4 16,7 16.7..33.3 333[ ‘3¢
- ; 7 2 3 4 2 2 133 5 6 4 2 |20 § 8 10 6 4 |33
1d LoKDE 19.4..23.0..30.8, 15.4 15.4) 16.0) 15.0 25.0 30,0 200 10,0} 238 15.2 242 30.3 182 1211 0.0
- . e 2 2 4 3 1112 3 3 8 4 2 7 6 19
2 mIPHE 18.2..18.2. 364 27.3 13.6] 25,0 3.5 31.% 9.5 21,1, 10.5 368 31.6 1.5
- v = 1 2 2 1 6 2 1 3 1 4 3 1 9
% BRI 16.7..33.3.33.3 167 7.4 §6.7..33.3 3.80 311 444 333 11 5.5
N | 1 1 1 1
4 Lrkn® 100,01 .12 100.0f 0.8
- 1 2111 2 4 1 21 2 6
5 Lomb® 50.0..50.0 2.51.25.0.25.0 50.0 48] 16.7..33.3.16.7..33.3 3.6
7 1 1 1 1 2 1 1 1 3
6 hPii 100.0 1.2 50.0 50.0] .24 33.3..93.3 33.3] . 1.8
. 7 1 1 21 1 1 1 1 3
! Lzehi 50.0 50.0 2.5].100.0 1.20.33.3 333 33.3 1.8
il 4 8 8 1 211 3 8 5 5 22 1 7 16 13 6 | 43
8 Eoobh R 19.0 381 381 4.8} 259 45 136 384 227 2071 26.2) 2.3 163 37.2 20.2 14.0| 261
- Xo 78 13 3 4 4 18[1 3 T4 74773 s 2 6 7 8 7 /30
’ kTent 6.7..20.0 200 267 967f 185 67 200 267 267 20.0] 17.8| 6.7 200 233 267 23.3] 182
7 1 1 2 1 5 5 1 1 4 4 10
10 #obhH 20.0 200 0.0 20.0 6.2 40.0_60.0 6.0} 10.0 10.0 40.0 40.0 8.1
ait 7 18 26 23 8 81 9 14 26 22 13 84 16 32 51 45 21 165
it 4 86 222 309 284 99 1000 107 167 310 262 155 100.0 97 194 309 273 127 1000
'*#Aﬁ(%)tiﬁiﬂﬁhﬁ
FARRE B¥ T =T )
BUA#AE &L [T E | &S] & [PE] B [PF[ B [EH] & [FE] EP |mF] & | &8
| THRERF 2 3 5 4 14 3 3 4 10 5 3 8 8 24
1.23-27. | .14.3. 214 357 8.8 17.3).30,0 30,0,.40.0 11.9].20.8, 125 33.3 33,3 14.5
I £LoHLF 3 5 1 3 2 |20 4 6 8 9 2 129 7 [}l 15 12 4 | 49
3-1d5.10. | 150 250 350 150 10.0| 24.7] 13.8 20.7 7.6 31.0 6.9| 345! 143 204 306 245 82| 297
W IFAERF 1 3 1 5 2 3 5 1 2 3 4 110
3-1.4.6 20.0 60.0..20.0] 6.2 40.0 §0,0] 6.0 10.0..20.0. 30,0 40.0| 6.1
WV & UhkF 1 T 1 12 5 | 36 2 6 12 9 8 |37 3 13 23 2 13 173
89 2.8..19.4 306 33,3 13.9|..44.4] 5.4 162 32.4 243 21.6| 40l 4.1 178 3.5 188 17.8] 442
Vg R OB 1 2 2 1 6 2 1 3 1 4 3 1 9
a-4 16.7 33.3 33.3 16.7 7.4 66.7 3.3 3.6] 111 444 333 111 5.5
= 7 18 26 23 8§ 81 9 14 26 22 13 B4 16 32 5l 45 21 165
5 4 86 222 309 284 99 1000 107 167 310 262 155 100.0 97 194 309 273 127 1000
80,
_%¥ Ni=64
70——#% N2268
i 24 N3=2196
60;
50;

R 1= -2.3(16.08) R t= -0.2(15.42)
R 2= -2.3(15.85) R2=1.0(14.09)
R 3= 0.0(14.40) R3= 3.3(12.95)
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B 21-6

WEBHoF-LLBHSh->FOHER TR

‘et b6
WCHDRIBEREDZFRDABEED R EFHE (2K _
\ R A B (%) & FHERAR
S EE LEH-F WCHLNSF _ F0H
AIBHEE 5 vfF b hFTE [fflE ok F fFE [ E o+ & AT R | 8F
e ) 2 1 3 1 3 17 20 40 9 6 |92
1 BIPnE 66.7 33.3 3.1 66.7 33.3 2.8] 18.5 21.7 43.5 9.8 6.5 3.6
- y 1 3 1
2 cEead 20.0 60.0 20.0 0.2
q <2, AT 1 4 2 72 3l z[it 17 20018 47 37 11 [133
3 3-1 At A E 8.3 33.3 16.7 16.7 25.0 12.5] 25.0 25.0 25.0 25.0 3.8 15.0 13.5 35.3 27.8 8.3 5.3
a . L B 3 6 5 2 1 1717 7T 76 s 21 ls2 159 227 75 15 |[558
] 3-1d Lo<yH 17.6 35.3 29.4 11.8 59 17.7 48 33.3 286 23.8 9.5 19.8] 14.7 28.5 40.7 13.4 2.7 22.1
g - y 4 3 6 2 153 3 4 3 137795 91 165 67 15 |433
3-2 R 26.7 20.0 40.0 13.3 15.6] 23.1 23.1 30.8 23.1 12.3] 21.9 21.0 38.1 15.5 3.6 17.1
_ ) 3 1 4 2 2 5 16 24 34 11 3 (88
,3 4 L 75.0 25.0 4.2 40.0 40.0 20.0 4.71 18.2 27.3 38.6 12.5 3.4 3.6
o AnF 1 1 1 1777777527 o
4 Lzt il 100. 0 1.0 100.0 0.9] 10.0 10.0 50.0 20.0 10.0 0.4
e 3 4 23 28 12 3 66
5 LomyH 25.0 75.0 3.8 34.8 42.4 18.2 4.5 2.6
g T 3|1 3 2 D 3771 12 15 5 |36
. 6 é:b'\bto\i 33.3 33.3 33.3 3.1] 14.3 14.3 42.9 28.6 6.6 8.3 2.8 33.3 41.7 13.9 1.4
" y 1 1[1 1 3 42 40 17 99
1 Lzl 100.0 1.0] 33.3 33.3 33.3 2.8] 42.4 40.4 17.2 3.9
8 [Eooy B 4 3 8 3 21 2003777 8 s 25 182 152 193 105 46 |588
20.0 15.0 40.0 150 10.0 20.8] 12.0 28.0 32.0 24.0 4.0 23.6] 15.6 25.9 32.8 171.9 7.8 23.3
. y 2T 21 3 s 4 3 [16 |26 46 59 74 87 |292
9 & T e 16.7 16.7 25.0 25.0 16.7 12.5 6.3 18.8 31.3 25.0 18.8 15.1 8.9 15.8 202 253 29.8 11.5
Y % 2 1 4 A 8[1 2 1 4 32 37 46 13 1 |129
10 EobYHE 25.0 12.5 50.0 12.5 8.3] 25.0 50.0 25.0 3.8 24.8 28.7 35.7 10.1 0.8 5.1
&t 21 21 32 14 8 96 12 24 31 29 10 106 450 620 857 412 190 2529
]:t$ 219 219 333 146 8.3 100.0 113 226 292 274 94 100.0 178 245 339 16.3 715 100.0
_ B A M (%) & FHER
FErEREE WCH-F i WEHbh-F _ ZMN _
B B ot obTE (8|8 $td T E (€ |lE St BT E |EF
1 ThEET 56 3 8 2 19 4 4 6 5 19 |155 154 222 77 21 |629
1.2.3-27 31.6 15.8 42.1 10.6 19.8] 21.1 21.1 31.6 26.3 17.9f 24.6 24.5 35.3 12.2 3.3 24.9
I ECHLEF 5 7 9 3 125 2Ty e Ty 29 137 224 285 91 16 [753
3-1d5.10 ] 20.0 28.0 36.0 2.0 4.0 26.0 6.9 24.1 31.0 3t.0 6.9 27.4] 18.2 298.7 37.8 12.1 2.1 29.8
o FAERE 177753 e e 27717 T T 12 24 20 64 54 17 [179
3-1.4.6 6.3 31.3 25.0 18.8 18.8 16.7] 16.7 8.3 8.3 333 333 11.3] 13.4 11.2 358 30.2 9.5 7.1
N ESURFE 6 5 11 6 4|32 4 10 13 10 4 |41 118 198 252 179 133 [880
89 18.8 15.6 34.4 18.8 12.5 33.3 9.8 24.4 31.7 24.4 9.8 38.71 13.4 22.5 28.6 20.3 (5.1 34.8
VHE B H 3 1 4 2 2 5 |16 24 34 11 3|88
3-4 75.0 25.0 4.2 40.0 40.0 20.0 4.71 18.2 27.3 38.6 12.5 3.4 3.5
&% 21 21 32 14 8 86 12 24 31 29 10 106 450 620 857 412 190 2529
]:t$ 21.9 219 333 14.6 83 100.0 11.3 226 29.2 274 24 100.0 178 245 339 16.3 75 1000
8 .
— Lo o>F Ni=18
— VWEHER N2=83 M
i— M N3=2033
- b (W
"~ \W
40 \ \‘\Mﬁ '
N S \. ;.:\im e
20
3 = = - . = .2{13.21) R 1= 5.9( 8.56) 1= 7.9010.42) R 1= 10.6( 8.47)
10 o0 o e So Tour o = aates S el
3 R 3= 10.8(12.96) R 3= 0.3(14.38) R 3= 3.4(12.93) R 3= 5.1( 9.78) 3= 6.6( 9.30) R
14 24 3% 4% 54 65



&kt 57
WEH->FDOAFESH )
B A M (%) E T iR
BERE| S - a2 1 aft ]
ARRER & | PE[ P [PT[E [&H | S [Pt b [T B[St & |PL[ & [PTF| & | &&F
. e 1 1 112 2 2 1 3
1 BEPHE 100.0 1.8]100.0 4.5] 66.7 33.3 3.0,
2 TEPHE ;
- o 3 2 3 alt 1 1 1 4 1 4 3 2 3|1
3-1 [Zats 33.3 222 111 33.3] 16.1) 25.0 25.0 25.0 25.0 9.1] 7.7 30.8 23.1 154 23.1| 13.0
- . 7] 1 1 2 412 5 3 2 13 3 6 5 2 1 17
3-id ULo<KbhE 25.0 5.0 50.0 700 154 385 239 154 7.7f 298] 17.6. 35.3 29.4 1.8 5.9] 17.0
_ — ) 1 3 4 1 913 2 2 7 4 3 6 3 16
3-2 BIPNE 11,1 33,3 444 111 16.1] 42.9 28,6 28.6 15.9{ 25.0 18.8 37.5 18.8 16.0
- 4 = 2 21 1 2 3 1 1
3-4 g R 2 100.0 3.6] 50.0 500 4.5] 75,0 25.0 4.0
N I 1 1 1 1
4 LEEDE 100.0 1.8 100.0 1.0
5 LohbhE
4 1 1 2 1 1 1 1 1 3
6 ShPH/E 50.0  50.0 3.6 100.0 2.3 33.3 333 33.3 3.0
. Fid) 1 1 1 1
1 L7 woE 100.0 2.3 1000 1.0
i 2 3 8 2 1 16|12 1 1 5 4 4 8 3 2 21
8 Eo>ohE 12.5 18.8 50.0 12,5 6.3} 28.6| 40.0 20.0 20,0 20.0] 11.4} 190 19.0 381 143 95| 21,0
: I 2 3 1 2 9 1 2 4 2 2 3 3 3 13
S ETehi 22.2 411 33.3 111 g22.2| 161 25.0 50.0 5.0 9.1| 15.4 15.4 3.t 231 23| 13.0
iy 1 2 3[1 1 5 2 1 £ 8
10 Fob0E 33.3 66.7 5.4] 20.0 200 40.0 20.0 i1.4] 25.0 12.5 50.0 12.5 8.0
|t 9 11 24 6 6 56 12 1A 9 9 3 44 21 22 33 15 9 100
e $ 16.1 19.6 42.9 10.7 10.7 100.0 213 250 205 205 68 100.0 21.0 22.0 330 150 20 100.0
B A M (%) EF190IR
BRRRE 2 T XF 1 &t _
BUARE B P E[ P [PF E |[Qet| & [P o [FF[ B[St & [#LE] & [PF| & | 8&
| §haBiF 1 3 5 i 10 5 3 2 10 6 3 8 3 20
1.23-27 | 10.0 30,0 50.0 10,0 17.9] 50.0 30.0 200 22.7| 30.0 15,0 40.0 150 20.0
I ZLoHRF 2 i 4 7 3 6 5 3 i 18 5 1 9 3 1 25
3-1d5.10 | 28.6 14,3 57.1 12.5] 16.7 33.3 27.8 16.7 5.6] 40.9l 200 28.0 360 12,0 40| 25.0
W IFAELF 3 4 2 3 12 1 2 1 1 5 1 5 5 3 3 17
3-1.46 25.0 33,3 16,7 25.0| 2.4} 200 40,0 20.0 20,0 11.4] 59 294 204 17.6 17.6] 17.0
V &> U+ 4 4 " 3 3 25 2 2 3 2 ] 6 6 A 6 5 34
8.9 16.0  16.0 440 (2.0 12.0] 46| 22,2 22.2 33.3 22.2| 2051 17.6 17.6 32,4 17.6 14.7| 34.0
V iE m OB 2 2 1 i 2 3 ! 4
3-4 100.0 3.6] 50.0  50.0 4.5 15.0 25.0 4.0
28 9 A 24 6 6 56 12 A 9 9 3 44 21 22 33 15 9 100
=4 'q’.i 16.1 196 429 10.7 10.7 100.0 213 250 205 205 6.8 100.0 210 220 330 15.0 8.0 100.0
80,
1— BF Ni=47
TJO —&F ne=33
''''' 24k N3=2186
60: \ \
%0 M j
401 Ra?

3de

10;

12.1(13.92)
12.7( 9.61)

A=
R 2=
10.6(13.03) R 3=

o RNV

-1.7(15.81) A= 1.5(13.09)
~1.1(10.98} R2=  5.8(13.01)
0.0{14.40) R 3= 3.3(i2.95)

14

24F 3%

[Eaauassansssss}

- - >
© R

]
@ oo o—

o w >

44

K21-7 WLW\COH-FOHRIEEREERER



HE 58
WCHLN>FDHER AR/ ]
B2 AR (%) LFIERIR
AR _ 3T zF | =t _
AEEER B wEtd PFE [BF [ SEP HFTHE |G |E SLH ST E |SEH
> 42 1 1 1 1 2 1 3
1 BEZPHME 50.0 50.0 4.3 100.0 28 66.7 33.3 3.5
2 ZEPNE
- < 1 1 1 3 1 1 1 1 1 4
-1 EAehE 33.3 33.3 3.3 64 100.0 2.6| 25.0 250 250 250 47
- : IE} 4 3 1 2 10]1 3 3 8 1 7 6 2 2 18
8-1d Lo<yd 40.0 30.0 10.0 200 21.3 125 375 37.5 12,5 2.1} 5.6 389 333 1L1 AL1 212
- P y 2 1 1 3 711 2 3 1 7 3 3 4 4 14
-2 Goead 28.6 14.3 143 42.9 14.9] 14.3 286 429 14.3 19.4] 21,4 21,4 286 286 16.5
- 2 1 1 4 1 1 2 2 1 5
4w R 50,0 25.0 25.0 8.5 100.0 2.6 40.0 40.9 20.0 5.9
e PNF 1 1 1 1
4 Lf=f-inE 100.0| 2.6 100.0] 1.2
L) 1 1 2 2 3 3
° LomdE 10.0 2.1 190.0 5.3 1000 3.5
J 3 1 4 1 1 3 2 5
6 Shvnd 75.0 25.0| 8.5 100.0 2.6 60.0 40.0) 5.9
7 Luehm [ 2 Lo 5 ’
50.0 50.0 4.3 50.0 50.0 2.4
i) F 2 2 3 1 8|1 4 4 2 11 3 6 7 3 19
8 Eooyd 25.0 26.0 3.5 12.5 1.0 9.1 364 36.4 18.2 28.9| 15.8 31.6 36.8 15.8 22.4
5 1 2 1 1 5 1 1 1 1 1 3 2 1 8
S RTend 20.0 40.0 20.0 20.0] 10.6 33.3 33,3 33.3 7.9] 12.5 12.5 315 250 12.5] 9.4
.} 1 1 2 2 1 2 3
10 EobVE 100.0 2.1 100.0 5.3) 33.3 66.7 3.5
&% 8 10 12 12 5 47 3 10 15 8 2 38 120 27 20 7 8
HE 170 213 255 255 106 1000 79 263 395 211 53 1000 128 235 318 235 82 1000
B A B (%) LT HEIR
RRREE| 5F 1 ZF _ Sit _
BEARRE m Bt FTE St |m HEtH BPFIHE |8 |m HEtd BFIE |[SFH
1 $a84F 3 2 2 4 1 1 2 4 1 8 4 4 6 5 19
1,23-27.1.21.3 18.2 18.2 36.4 23.4} 12.5 25.0 60.0 12.5 20.1) 21.1 21,1 31.6 263 22.4
I FLOHAEF 1 4 3 2 2 112 1 3 5 3 12 2 7 8 5 2 |24
3-14510.| 83 33.3 250 167 16.7) 255 8.3 250 41.7 250 31.6| 8.3 292 33.3 208 8.3 282
oI FAZLEF 1 3 2 7 1 2 3 1 1 4 4 110
3-1.46. 1143 143 42.9 28.6| 14.9 33.3 66.7) 1.9] 10.0 10.0_40.0 40.0 11.8
N &> UGF 3 2 5 2 1 |13 1 5 5 3 14 4 7 10 5 1127
8.9 23.1 154 385 154 17| 21.7) 1.1 357 357 21.4 36.8| 14.8 259 37.0 185 3.7 31.8
VE R B 2 1 1 4 i 1 2 2 1 5
3-4 50.0 25.0 25.0 8.5 100.0 2.6 40.0 40.0 20.0 5.9
&85 8 10 12 12 5 47 3 10 15 8 2 38 i1 20 27 2 7 85
ht$ 170 213 255 255 106 1000 79 263 395 211 53 1000 128 235 318 235 82 1000
80;
I— BF N=47
— &7 N2=38
70_ ----- Sk N3=2196
60;
50;

7.1(15.48)
8.9(14.84)
10.5(13.03)

R 1=
R 2=
R 3=

R 1= -4.0(16.34) R 1=
R 2= -6.6(12.28) R 2=
R 3= 0.0(14.40) R 3=

2.5(14.68)
-0.6(10.33)
3.3(12.95)

R1= 2.2001.14)
R 2= 2.6(10.59)
R3= 5.1(9.78)

R )= 4.8( 8.96) R 1= 7.6(8.38)
R2=  0.8B( 9.45) R 2= 7.3(9.72)
R 3= 6.5(6.39) R3 8.7( 8.18)
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&E B9
25HAR - ERD B EEDRERY (S53¢H)

B A (%) LT IR

——wWERE| ____#F I 2 1 Bxawn .
AR & 5L @ BF E |05 FL h &F E BB L & $F E|AF
1 BrZend 33.13 " 33.13 63 "0 fa00 ° sgl s o 62 870
2 ZFEPHE

-1 EALNE 33_13 66_27 5_3; 150.0150.0 2 3.4 23.0 4%.0 4%.0 54‘;;
-1d Lo<KUE 0.0 100 408 %9 100 a9l 8347 a7 53 ol 5 8 g 182 i 2?9,;,9.
-2 mIehE a3 105 64 3.0 200 2aa0 5 wol 54 sts i s 1?1,5
4 R OB 50.10 50_10 3% 150,0 50.0 2 3.4 2&.0 220 s<2>.o 435
4 Li-tfoindl 53 wsl 54 5.7 wal 5 6
5 Lomyd 100.0 L8 00,0 R 0.0 0.0 2
6 Themndl 33_}, 56_27 5,3 1mo.o1 1.1 2&13.0 sg.o z;.o 43.5
! Laend 2.3 9.3 833 sl 740.0 2000 20,0 5wl 55 2o Ao 12 %
8 ooy 03 100 203 %9 203 N N T Y EA T %1 1.0l n02
’ Reend 167 160 167 50.0| 10.9 "3 2l s i i1 22 shel 1
10 o540l 503 5.0 260 2 YRR sl Be 17 @2 19 Y

8t 9 8 15 17 7 56 8§ 15 25 6 4 58 17 23 40 23 11 14
HE 161 143 268 304 125 1000 138 259 431 103 69 1000 1483 202 351 202 86 1000

B A (%) LT EhiR

RARRE BT ] &T ] CET i ]
BEARE B TE % FF E|AH[& BL ® BT B AH|® S & pT & B

1 §48%EF 2 4 3 5 14 4 4 1 15 6 8 10 5 29
1,2.3-2.1 4 28.6 21.4 35.7 25.0] 26.7 26.7 46.7 25.91 20.7 27.6 345 11.2 20.4

I FULHEF 3 2 5 4 1 115 1 6 13 2 22 4 8 18 6 1 {37
3-1d510 ] 20.0 13.3 33.3 267 670 268 45 27.3 5.1 9.1 37.9] 10.8 21.6 48.6 16.2 2.7 32.5

oI FAEGF 1 3 4 1 9 1 1 1 3 1 1 4 4 2 {12
3-14.6 11.1 33.3 44.4 11.1 16.1 33.3 33.3 33.3 6.21 83 8 33.3 33.3 16.7 10.5

NV &-UhGF 2 2 3 4 5 116 3 3 3 4 3 |16 5 5 6 8 8 | 32
8.9 12.5 12.5 18.8 250 31.3( 28.6| 18.8 18.8 188 250 18.8] 27.6] 16.6 156 18.8 25.0 26.0] 281

VE B 1 1 2 1 1 2 1 1 2 4
3-4 50.0 50.0 3.6 50.0 50.0 3.4| 25.0 25.0 50.0 3.5

& 9 8 15 17 7 56 8 15 25 6 4 58 17 23 40 23 11 114
B 16.1 143 268 304 125 1000 138 259 431 103 6.9 1000 148 202 351 202 96 1000

8Q
— BF Ni=25

7(} — &F N2=32
----- 2582tk NI=2196

10 R ]i 10.2( 8.84) R t= -7.8(17.58) R 1= -0.6(16.07) R 1= -2.0(11.19) R 1= 4,1(10.39) R 1= 6.1(10.85)
3 ; 5: :gg(‘ggé) R 2= -4.9(12.34) R 2= 10.9(12.67) R2= 5.5(08.77) R 2= 6.5( 8.95) R 2= 8.6(7.86)
j = 10.5(13.03) R 3= 0.0(14.40) R 3= 3.3(12.95) R 3= 5.1(8.79) R 3= 6.5(09.30) R 3= 8.7(8.16)
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‘a8 60
25 R - HERDRIBEED R ZHY (S5421K) )
B A (%) LT HERR
SRR BEF¥ TF LT _
AREE & BF m Br B 2| &5 BL & BFr B | S| & Bk B BT & | B
s 2 i 1 1 2 1 2 3 1 3 1 5
__J_ﬂ RiZend 50.0 50.0 3.5 33.3 66.7 57 20.0 60.0 20.0 4.5
2 CELHME
e 5 A 1 2 4 1 8 1 1 2 i3 4 2 10
3 1 [EAts A 12.5 25.0 50.0 12.5 14.0 50.0 50.0 3.8] 10.0 30.0 40.0 20.0 9.1
- s ¢ U B 28 3 13 31, KR P 22
W3 1d Lo<UH 15.4 61.5 23.1 22.8{ 33.3 22.2 44.4 17.0) 13.6 18.2 54.5 13.6 20.0
_ s = y 31 5 i1 2 4 1777788 9
3-2 FoehE 60.0 20.0 20.0 8.8 25.0 25.0 50.0 7.5 11.1 44.4 33.3 11.1 8.2
T y 1 1 2 1 1 2
3-4 R & 50.0 50.0 3.5 50.0 50.0 1.8
. 1 1 2 1 1 1771 1 3
] 4 Lif-mndl 50.0 50.0 3.5 100.0 1.9 33.3 33.3 33.3 2.7
) 1 1 2 271 2 6 2 2 3 8
5 Loy E 50.0 50.0 3.5] 33.3 6.7 33.3 16.7 11.3] 256.0 25.0 37.5 12.5 7.3
6 Ehoenil
. y 271 1 4 3 1 4 5 1 2 8
1 L emdl 50.0 25.0 25.0 7.01 75.0 25.0 7.5] 62.5 12.5 25.0 1.3
; 3 4 3 3 2115 44 8 1 15 77778777y 4 2130
8 EoouyH 20.0 26.7 20.0 20.0 13.3 26.3] 26.7 26.7 40.0 6.7 28.3] 23.3 26.7 30.0 13.3 6.7 27.3
. g 1 1 2 2 12 1771 2] 4
9 lETemni 50.0 50.0 3.5 100.0 3.8 25.0 25.0 50.0 3.6
’ 1T 1 2 371 3 7 3 2 g 9
10 EohYE 50.0 50.0 3.6] 42.9 14.3 42.98 13.2] 33.3 22.2 44.4 8.2
&% 6 16 22 10 3 57 16 11 21 3 2 53 22 27 43 13 5 110
H_',$ 10.5 28.1 386 175 5.3 100.0 302 20.8 396 5.7 38 100.0 20.0 245 39.1 11.8 45 1000
B A (%) EFHphR
BERRER] Br _ ZF _ BL&E _
HUAFRE = WmE wm fF Bl s Pt b &F EISH|E Bt th T & | &5
I $ABEF 2 4 3 1 111 4 2 5 11 6 6 8 1 1|22
1.2.3-27 18.2 36.4 27.3 9.1 9.1 19.3} 36.4 18.2 455 20.8] 27.3 27.3 36.4 4.5 4.5 20.0
I £LHET 4 10 3 17 8 4 9 1 22 g 8 19 4 39
3-1d.5.10 23.5 58.8 11.86 29.8] 36.4 18.2 40.9 4.5 41.5] 20.56 20.5 48.7 10.3 35.5
o IFAERT 17773 4 2 10 T 1 1 3 1 4 5 3 13
3-1.4.6 10.0 30.0 40.0 20.0 17.5 33.3 33.3 33.3 5.7 7.7 30.8 38.5 23.1 11.8
NV E-UKT 34 4 s 217 4778 s 1 217 77778710 s 4|34
5 89 t7.6 23.5 23.5 23.5 11.8 29.8] 23.6 23.5 353 5908 11.8 32.1] 20.6 23.5 29.4 147 11.8 30.9
VE B X 11 2 11 2
3— 50.0 50.0 3.5 50.0 50.0 1.8
&% 6 16 22 10 3 57 16 11 21 3 2 53 22 21 43 13 5 110
H;$ 10.5 28.1 38.6 175 53 100.0 302 208 396 5.7 38 100.0 20.0 245 39.1 11.8 4.5 100.0
80;
1— 27 n=22
— &F N2=34
10, 2tk N3=2196 3 |
60 Vs \M
50

10;

R 1= 6.0{15.47)
R 2= 13.0(11.57)
R 3= 10.5(13.03)

R 1= -41(13.17) R 1= -3.0(12.14})
R 2= 5.1(12.78) R 2= 5.6(10.50)
R 3= 0.0(14.40) R 3= 3.3(12.95)

R 1= 4.0( 8.00)
R 2= 8.4(10.25)
R 3= 5.1(8.78)

4.5( 8.30) R 1= 9.5( 8.26)
8.3( 7.49) R 2= 11.4( 6.81)
6.56( 9.39) R 3= 8.7( 8.18)
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255151 - E D FIBRED RERY (SE52F)

" 61

R 1= 17.5( 8.37)
R 2= 16.5( 8.27)
R 3= 10.5(13.03}

6.5(16.57)
5.6(14.01)
3.3(12.95)

R 8.2(10.29)
R 2= 5.5( 8.59)
R 3= 5.1(8.79)

852 A2 (9%) & F 14 8
FAREE : 2 1 mEaw :
AFEE pE & T E | & | & Bk f BT S| & Bt B T B | &5
s 3 3 3 1 1 4 6
1 BEehE 5.1 100.0 57| 16.7 16.7. 66.7 5.4
2 CEOME
_ 5, 1 3 1 1 2 1 2 2 5
-1 EALAR 33.3 5.1 50.0 50.0 3.8] 20.0 400 40.0 45
_ . 4 14 2 4 6 3 15 2 5 15 1 29
3-1d Lo<YH 28.6 23.7| 13.3 26.7 40.0 20.0 28.3| 6.9 1.2 51.7 241 25.9
_ - = 8 1 3 8 1 13 2 5 13 1 21
-2 mIehdl 13.6] 7.7 231 6.5 1.1 24.5| 9.5 23.8 61.9 4.8 18.8
_ = 1 3 1 i 1 2 1 4
-4 @ R M 33.3 5.1 100, 0 1.9 25.0 50.0 25.0 3.6
o 2R 1 1 1
4 Lrfindl 1.7 100, 0 0.9
1 2 2 1 2 3
5 LoAyH 1.7 100.0 3.8 333 66.7 2.7
6 EThenx
- i 1 2 2 1 2 3
! Lsehdl 1.7 100. 0 38| 23.3 66.7 2.7
] 4 17 1 6 4 2 13 1 8 15 6 30
8 oo U 23.5 28.8| 7.7 46.2 30.8 15.4 245 3.3 267 50.0 20.0 2.8
= J 1 6 1 2 1 2 6
’ lETend 16.7 33.3] 10.2 16.7 33.3 16.7 33.3 5.4
y 1 2 1 1 2 1 1 1 1 4
10 FobYE 50.0 3.4] 50.0 50.0 3.8 25.0 25.0 25.0 25.0 3.6
=13 12 59 5 13 28 7 53 10 22 59 19 2 112
l:t $ 203 100.0 94 245 52.8 t3.2 100.0 89 196 52.7 170 1.8 100.0
B4\ 3 (%) & T 1988
ARRAE : £ : CES T :
HEANRE +t & F E || & Bk B @F it & Lt & T E|&F
1 $hBHF 12 1 3 13 1 18 4 6 19 1 0
123-27 20.3| 56 167 122 5.6 34.0| 13.3 20.0 63.3 3.3 26.8
I FLOEF 5 17 3 4 9 3 19 3 7 18 8 36
3-14,5.10 52.9 29.4 28.8| 15.8 21.1 47.4 15.8 35.8| 8.3 1.4 50.0 22.2 39. 1
mIFAERF 1 4 1 1 2 1 3 2 6
3148 25.0 6.8 50.0 50.0 3.8] 16.7 50.0 33.3 5.4
NV &-URF 5 23 1 6 4 2 13 2 8 17 7 2 | 36
] 8.9 21.7 30.0] 7.7 46.2 30.8 15.4 250 5.6 222 47.2 19.4 56| 321
Ve B B3 1 3 1 1 1 2 1 4
3-4 33.3 5.1 100.0 1.9 25.0 50.0 25.0 3.6
&k 12 59 5 13 28 7 53 10 22 59 19 2 112
tt$ 20.3 100.0 94 245 52.8 13.2 100.0 8.9 19.6 52.7 17.0 1.8 100.0
80,
1— 83 m=50
7O — =7 Ne=ae
9 2k N3=2196
60:

=

R 1= 7.0(9.37) R 1= 9.4( 7.56)
R2= 5.4(6.83) R 2= 10.3( 6.09)
R 3= 6.5(9.39) R 3= 8.7( 8.16)
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10

= 11.4(9.71)
= 10.8(10.66)

R1
R 2
R 3= 10.5(13.03)

R 1= -1.1(18.12) R 1=
R 2= 3.1(14.79) R2
R 3= 0.0(14.40) R3

0.1(14.18)
3.1( 8.08)
3.3(12.95)

R 3.5(10.37)
R 2= 6.5(8.24)
R 3= 5.1(8.79)

w62
2585 - HER DB O REHY (S56214) _
B (%) EF iR
AR EE __ BF TF 1 EE S ohE _
AIFER = Pk B BT | S| & $E b F B || & PE b FF E [
st f 1 2 3 1 1 1 3 2 3 1 6
1 BREPME 33.3 66.7 5.5 33.3 33.3 33.3 5.5 33.3 50.0 16.7 5.5
2 CEPehn
. { ) 1 2 1 1 5 2 1 1 4 3 3 2 1 9
1 EA AL 20.0 40.0 20.0 20.0 9.1 50,0 25.0 25.0 7.3] 33.3 33.3 222 1.1 8.2
_ - ) 1 5 5 2 1 14 4 6 8 1 19 5 11 13 3 1 33
3-1d Co<KYH 7.1 35.7 357 143 71.1| 255 21.1 31.6 42.1 5.3 34.5| 15.2 33.3 39.4 9.1 3.0 300
_ = ] 3 5 7 3 18 1 2 3 3 6 9 3 21
-2 oend 16.7 27.8 38.9 16.7 32.7 33.3 66.7 5.5 14.3 28.6 429 14.3 19.1
— ) 1 2 3 3 1 4 1 5 1 7
H@m R R 33.3 66.7 5.5 75.0 25.0 7.3| 143 71.4 14.3 6.4
4 Lizt=Hh3
i 1 1 2 4 4 1 9 5 5 1 11
5 Lomyd 50.0 50.0 3.6| 44.4 44.4 11.1 16.4] 45.5 455 9.1 10.0
6 EhonH
N i 1 1 2 2 3 3
! Lo 100. 0 1.8 100, 0 3.6 100, 0 2.7
] 1 2 3 1 1 2 3 bi 1 1 3 5 10
8 [Eo>oYH 33.3 66.7 5.5 14.3 14.3 28.6 42.9 12.7] 10.0 10.0 30.0 50.0 9.1
< f 1 1 3 5 1 1 2 2 1 4 7
’ FTehd 20.020.0 60.00 9.1 50, 0 50.0 3 28.6 143 57.1| 6.4
1 1 1 1 2 2 1 3
10 EobYH 100.0 1.8 50.0 50.0 3.6 66.7 33.3 2.7
&% 8 17 17 9 4 55 12 19 17 6 1 55 20 36 34 15 5 110
BE 145 308 309 1864 73 1000 218 345 308 109 18 1000 182 327 309 136 45 1000
Y AR (%) ET R
EMEREE 5F _ . zF _ s _
U m Pt  pfF E|EH | E L b FF B [EH|E FE F T E | 8F
I §%88F 4 6 ] 3 22 1 3 3 1 8 5 9 12 4 30
1.23-27 | 18.2 27.3 40.9 13.6 40.0| 12.5 31.5 31.5 12.5 14.5| 16.7 30.0 40.0 13.3 27.3
o FLHEF 2 7 5 2 1 17 g8 N 9 2 30 10 18 14 4 1 47
3-14510 | 11.8 41.2 29.4 11.8 591 30.8| 26.7 36.7 30.0 6.7 54.5| 21.3 38.3 20.8 8.5 21| 427
I IFAZRF 1 2 1 1 5 2 1 1 4 3 3 2 1 9
3-146 20.0 40.0 20.0 20.0 9.1| 50.0 25.0 25.0 7.3| 33.3 33.3 222 i 8.2
V &oUGF 2 3 3 8 1 1 3 3 1 9 1 1 5 6 4 117
8.9 25.0 37.5 37.5] 145! 11.1 1.1 33.3 333 1.1} 16.4] 59 59 204 353 235 1558
VHE R R 1 2 3 3 1 4 1 5 1 1
3~4 33.3 66.7 5.5 75.0  25.0 7.3 143 714 143 6.4
=1 8 17 17 9 4 55 12 19 17 6 1 55 20 36 34 15 5 110
BEE 145 309 309 164 73 1000 218 345 308 108 1.8 (000 182 327 309 138 45 1000
80
1-— 8% N=45
70i— =7 =38 \/\N\/
----- 2k N3=2196 ,_ A
4
60; MM

5.2( 8.13) R1= 9.7(7.81)
6.2( 9.85) R 2= 11.4( 7.80)
6.5( 9.39) R 3= 8.7(8.16)
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25HIR - S ERDBBEEDSE Y (S572H) )
B A B (%) &N
EHREE H¥ e _ CEST
AiEER ®m $F o T EISF & ®E b £F B[S E Bt B PpFT & | &5
3 ’ 1T 1 212 1 4 2 1 2 1 6
1 BIEenE 50.0 50.0 3.6/ 50.0 25.0 250 7.5] 33.3 16.7 33.3 16.7 5;’§’
2 SEONE
- €5 A 11 2 1 511 171 2 1 2 2 18
3-1 Zh¢5 20.0 20.0 40.0 20.0 8.91 33.3 33.3 333 5.7 25.0 12.5 25.0 25.0 12.5 1.3
_ . i 3 5 1 1 1002 1 5 2 11 5 1 10 2 3217
3-1d Lo<yH 30.0 50.0 10.0 10.0 17.91 18.2 9.1 455 9.1 18.2 20.8] 23.8 4.8 47.6 9.5 14.3 19.3
_ - ) 1 4 5 134 1 4 2 12 5 5 9 § 10925
8-2 ETehE 7.7 30.8 38.5 231 23.2] 33.3 8.3 33.3 16.7 8.3 22.6] 20.0 20.0 36.0 20.¢ 4.0 22.9
_ ; 1 1 2 2 1 4 22 1 1 8
3-4 " R H 50. 0 50.0 3.6] 25.0 50.0 25.0 7.5] 33.3 33.3 16.7 16.7 5.5
4 Lizf=hi
L 3 1 41 5 7 1 8 2 11
3 Loty 75.0 25.0 7.11 14.3 71.4 14.3 13.2 9.1 72.7 18.2 10. 1
g 1777 2 11 2
6 Sheidl 50.0 500 3.6 50.0 50.0 1.8
- y 2 1 4l2 2 4 1 ]
/ Lz 50.0 25.0 25.0 7.1]1 100.0 3.8 66.7 16.7 16.7 5.5
y 2 2 1 5 3 1 5 3 5 2 10
8 [EooyH 40.0 40.0 20.0 8.9 20.0 60.0 20.0 9.4 30.0 50.0 20.0 92|
. g 2 1T 6 2 2 |4 4 1 1 4110
9 [ETemnd 33.3 16.7 16.7 33.3 10.7 50.0 50.0 1.5 40.0 10.0 10.0 40.0 9.2
I 27 3 1 1 31 4
10 Eob0E 66.7 33.3 5.4 100.0 1.9 75.0 25.0 3.7
&% 8 13 22 10 3 56 13 13 15 6 6 53 21 26 37 16 9 109
H_',$ 143 23.2 393 179 54 1000 245 245 283 1.3 11.3 1000 19.3 239 338 14.7 8.3 100.0
B AR(%) TR
EaREE BF _ TF i Bx 55 i
AR = PF & oF E|SFH|E &L F hF B [ EH[E PL 1 hF E | &
I THENT 3 5 1 4 19 8 2 5 2 1|18 |11 71 12 & 1|37
123-217 15.8 26.3 36.8 21.1 33.9] 44.4 11.1 27.8 11.1 5.6 34.0] 29.7 18.9 32.4 16.2 2.7 33.9
I £LORF 3 3 8 2 1 1|n 36 7 1 219 6 9 15 3 3|36
3-1d.5.10 17.6 17.6 47.1 11.8 5.9 30.4] 15.8 31.6 36.8 5.3 10.5 36.8] 16.7 25.0 41.7 8.3 8.3 33.0
o FAZHFE 11 3 2 7 1 113 A T R N T I T
3-146 14.3 14.3 42.9 28.¢6 12.5] 33.3 33.3 33.3 5.7] 20.0 10.0 30.0 30.0 10.0 9.2
NV £5UATF 4 3 277 33 1 2109 7 6 3 412
8.9 36.4 27.3 18.2 18.2 18.6 33.3 33.3 i1 22,2 17.0 35.0 30.0 15.0 20.0 18.3
VE B M 1 2 1 2 1 4 2 2 1 8
3-4 50.0 50.0 3.6] 25.0 50.0 25.0 7.5] 33.3 33.3 16.7 16.7 5.5
=% 8 13 22 10 3 56 i3 13 15 6 6 53 21 26 37 16 9 109
H;E 143 232 393 17.9 54 1000 245 245 283 11.3 11.3 1000 193 239 339 147 83 100.0
80,
1—=F m=3(7i
- &F N2=
70_ ----- 24k N3=2196
60: k%wg
50 \wﬁﬁxmx@ o~
40 , , AP
30 MK\\\VM/ o Mm\}\‘%‘/
20! kxéit»\ﬂﬁl
E = [ A . = 4.3 8.30) R 1= 6.5( 8.41) R 1= B.6({5.25)
10 v oo R o0 R 5 st Ro et AR Roe 42709
E R 3= 10.5(13.03) R 3= 0.0{14.40) R 3= 3.3(12.85) R 3= 5.1(9.79) R 3= B6.5(8.30) R 3= 8.7( 8.18)
R
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25817 - BERDRIBEED RN (S5824)

R AR (%) LR EEIR
FRRE 2 - =T T BEaW :
AR = HBF B BF Blaidle BF B Pr B |SEH][ B St b hF & | S5
5 s 1 1 2 1 1 2
1 sreid 50,0 50,0 5.4| 50.0 50.0 2.7
2 CELPHME
o R i 7 M 7T
) -1 EMSAE 100.0 28| 50.0 s0.0| ‘5.4] 333 133 333 41
_ . 2 4 2 8 2 4 2 3 1 12 2 6 6 5 1 20
3-1d Eo<yH 25.0 50.0 25.0 929 16.7 33.3 167 25.0 8.3 32.4| 10.0 300 230.0 250 50| 274
— . = i 5 6 2 1 14 3 3 1 7 5 9 5 1 1 21
32 moeaE 35.7 42.9 14.3 7.1] 389 929 4.9 14.3 18.9] 228 420 238 48 48| 288
- J 1 2 3 1 1 1 3 2 3 1 6
-4 @ "’ H 3.3 66.7 8.3| 33.3 333 33.3 8.1| 33.3 50.0 16.7 8.2
4 Li=t-mh&
1 2 3 1 2 3
5 Lomyd 33.3 66.7 8.1] 33.3 66.7 41
g 1 1 1 1
6 Fhimnil 100, 0 2.8 100, 0 1.4
e i 1 i i
1 Lzl 100, 0 2.7 1000 1.4
| 1 2 2 5 1 3 4 1 2 3 3 9
8 EooyH 20.0 40.0 40.0 13.9 25.0 75.0 10.8] 1.1 222 33.3 333 12.3
= f 1 1 2 1 1 2 2 1 1 4
0 T ehd 50.0 50,0 5.6 500 50.0 5.4| 500 25.0 25.0 5.5
TE.] 2 2 1 1 1 2 3
10 gobYd 100.0 5.6 160.0 2.1 33,3 66.7 41
=i 8 10 13 4 1 36 7 12 7 9 2 37 15 22 20 13 3 73
H:$ 222 2718 361 111 28 100.0 189 324 189 24.3 54 1000 205 301 274 17.8 4.1 100.0
| B B0 (%) ST I9ERER
BRERE| 57 : £F : ELal :
EUAGE = BFE & PF B |2l P & BF B[St =& Pt & &FT & | &5
1 $RERF 5 6 2 1 14 1 4 3 2 10 6 10 5 2 1 24
123-07 | 35.7 42.9 14.3 7.1] 38.9| 10.0 40.0 30.0 20.0 27.0| 25.0 41.7 208 83 42 329
I FLHEF 2 6 2 10 3 7 2 3 1 16 3 9 8 5 1 26
3-1d510 20.0 60.0 20.0 27.8| 18.8 43.8 125 18.8 6.3 43.2| i1.5 346 308 19.2 38 356
I ITAZERF 2 2 1 1 2 1 2 1 4
3-146 100. 0 5.6| 50.0 s0.0| 5.4 25.0 50.0 25.0] 5.5
V &2 U4LF 2 2 3 1 1 1 1 3 6 3 3 4 3 13
8.9 28.6 28.6 42.9 19.4| 16.7 16.7 16.7 50.0 16.2 231 23.1 30.8 23.1 17.8
VHE B H 1 2 3 1 1 1 3 2 3 1 6
3-4 33.3 66.7 8.3] 33.3 33.3 33.3 8.1] 33.3 50.0 16.7 8.2
&t 8 10 13 4 1 36 7 12 7 9 2 37 15 22 20 13 3 13
H:$ 22.2 278 36.1 111 28 100.0 189 324 189 243 54 100.0 20.5 30.1 27.4 178 4.1 100.0
80;
1— =¥ M=35
JO— =7 =35
F £k N3=2196
60
50

1& R 1= 11.1{13.50) R 1= 2.4(17.69) R 1= 0.9(14.14) R 1= 6.2( 8.76) R 1= 7.4(12.22) R 1= 8.7( 7.18)
3 Re= 9.6(17.04) R 2= 3.9(13.08) R 2= 1.5(11.50) R 2= 7.4(11.57) R2= 5.7( 8.67) R 2= 8.3(7.36)
3 R 3= 10.5(13.03) R 3=  0.0(14.40) R 3= 3.3(12.85) R 3= 5.1(8.79) R3= 6.5( 8.39) R 3= 8.7(8.16)
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25K R MR D REIEY (S5924) _
B AR (%) EF iR
ERERE B5F TF _ CESSHS ]
ARER m BL P PF E|[EH|[E $t P PF B |BH|F SL P FF | S5
s ] 1 1 1 1 2 1 i 1 3
! BiEZeiH 100.0 2.7 50,0 §0.0 5.4 33.3 33.3 33.3 41
2 CEPHE
- <2 ) 1 1 1 1 1 1 2
1 Baead 100.0 2.7 100.0 2.7 50,0 50.0 2.7
- - | 2 12 5 2 1 1 9 2 9 5 4 1121
$-1d Lo<ud 16.7 333 25.0 250 32.4 §5.6 222 111 tit| 24.3] 9.5 429 238 19.0 48| 284
_ ;= 2 2 4 2 10 5 2 2 3 1113 7 4 6 5 1123
$2  Govhd 20.0 20.0 40.0 20.0 27.0| 38.5 154 (5.4 231 77| 351| 30.4 17.4 261 2.7 43| 311
— = gy 1 1 2 i 1 2
4 ® R 50.0 50,0 5.4] 50.0 50.0 2.7
4 Lf=f-mnE
| 1 1 2 1 3 3 1 4
5 Lomnya 100. 0 2.7] 667 33.3 8.1] 75.0 25.0 5.4
6 Thend
N 1 1 1 1
! LsenE 100.0 2.7]100.0 1.4
3 3 8 1 1 1 1 4 1 3 4 4 12
8 Eooud 25.0 31,5 315 21.6| 250 25.0 260 25.0 10.8] 83 2650 33.3 333 16.2
< 1 1 1 3 1 1 2 2 1 1 1 5
’ RTendl 33.3 33.3 33.3] 81| §0.0 50.0 5.4] 40.0 20.0 200 20.0] 6.8
] 1 1 1 1
10 EohUE 100.0 2. 100.0 1.4
&E 6 9 11 10 1 37 1 10 8 6 2 37 17 19 19 16 3 74
Hf,g 162 243 297 270 27 1000 297 270 216 162 54 1000 230 257 257 216 4.1 100.0
B A (%) LT
HEEEE 5F _ =F _ RS ]
BUARE =m Lt B T E[|BF|® BE o pF K |SEH|E PE $ BT & |EF
1 $4B47F 2 2 4 3 " 6 3 3 1 116 8 5 1 6 1127
123-27 | 182 182 364 213 20.7| 37.5 18.8 188 188 63| 432 206 185 259 22.2 3.7 365
I £LOLEF 3 5 3 3 14 2 5 2 2 1 ] 12 5 10 5 5 1] 26
3-1d5.10 21.4 35.7 21.4 21.4 a7.8| 16.7 417 167 167 83| 32.4f 19.2 385 192 19.2 3.8 351
oI FAEEF 1 1 1 1 1 1 2
3-1,46 100.0 2.1 100.0 2.7 50.0 500 2.1
N &->UaEF 1 2 3 4 111 2 1 2 1 6 3 5 5 1117
8.9 9.1 18.2 2.3 364 91| 20.7) 333 167 333 167 16.2] 17.6 17.6 294 29.4 59| 23.0
VE B & 1 1 2 1 1 2
3-4 50.0 50.0 5.4 50.0 50.0 2.1
&aF 6 8 11 10 1 37 1 10 8 6 2 3 17 19 19 16 3 74
H_’,ﬁ 162 243 29.7 270 27 1000 287 270 216 162 54 1000 230 257 257 216 4.1 100.0
80;
1— BT NI=35
7O — =7 te=24
----- 24 N3=2196
60;
90,
40

= 9.2(13.01)

= 11.3( 8.85)
= 10.5(13.03)

R 1= 1.4(16.08) R =
R 2= -0.1(12.87) R 2=
R 3= 0.0014.40) R 3=

1.1(11.00)
3.3{ 9.91)
3.3(12.95)

= 4.2(8.53)
= 8.3( 9.31)
= 5.1(9.79)

R 1= 4.4( 8.44) R 1= 6.4( 6.23)
R 2= 4.8( 8.26) R 2= 8.0{ 7.50)
R 3= 6.5(9.39) R 3= 8.7( 8.16)
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25851 A ERDREREOREZRY (S60£K)

wE 66

B\ (%) E T 10808
HEAR

EHREE] BF T EF [
ANREER =m Bt ® wF EI|BEH|m PE B PF K |BEH|F PE P BT K [SF
" " 11 11 3 2 2 2 1 1 1] s
1 BEEPHE 33.3 33.3 33.3 5.41100.0 ©3.5] 40.0 20.0 20.0 20.0 4.4
2 SEONE _
T3 <5 AnE 1 1 113 1 1 1 1T 1 114
3-1 A5 33.3 33.3 33.3 5.4 100.0 1.8] 25.0 25.0 25.0 25.0 3.5
T . g 1 3 3 118 2 6 4 1 1114 3 9 7 1 2 122
3-1d Lo<yH 12.6 37.6 315 12.5 14.3] 14.3 42.9 28.6 7.1 7.1 24.6] 13.6 40.9 31.8 4.6 9.1 19.5
_ .= ) 4 1 6 3 2071 2717 4 3 1N 6 2 10 6 31|27
3-2 R 25.0 6.3 37.56 18.8 12.5 28.6] 18.2 9,1 36.4 2].3 9.1 19.3] 22.2 7.4 37.0 22.2 11.1 23.9
_ ’ 1T 12 17 112
3-4 # B - 50.0 50.0 3.5 50.0 50.0 1.8
4 L et in B
y 1 1 2771 4 31 5
o Lomt & 100.0 1.8] 50.0 25.0 25.0 7.0f 60.0 20.0 20.0 4.4
) 1 1 1 1 [ 2 1 1] 3
6 éb‘bb\& 100.0 1.8 50.0 50.0 3.5] 33.3 33.3 33.3 2.7
. 5 1 6 22 4 277 1 10
1 Lo 83.3 16.7 10.7] 50.0 50.0 7.0 20.0 70.0 10.0 8.8
1 2 3 3 71710 4 2 T2 T 5 4 5 5 2|21
8 onb}ﬂ 10.0 20.0 30.0 30.0 10.0 17.9] 36.4 18.2 18.2 18.2 9.1 19.31 23.8 19.0 23.8 23.8 9.5 18.6
. I R T | 3 1 T R R T B I
9 [ETend 14.3 14.3 28.6 28.6 14.3 12.5 75.0 25.0 1.0 9.1 36.4 18.2 27.3 9.1 9.7
1 1 1 11 2 R 3
10 %o%’d&‘ 100. 0 1.8 50.0 50.0 3.5 33.3 33.3 33.3 2.7
&% 11 13 17 8 7 56 14 17 12 9 5 57 25 30 29 17 12 113
H;$ 196 232 304 14.3 125 1000 246 298 211 15.8 8.8 1000 221 265 257 150 10.6 100.0
B8 A (%) LB
ErReEE B¥ _ ZF _ B& & _
FUAEE = BEF f opF E|E&H| & &t b fF B |2 & BE & T E [&:
I THBGT 4 7 8 3 31|25 6 3 4 3 1117 [10 10 12 6 4|4
1.2.3-27 16.0 28.0 32.0 12.0 12.0 44.6] 35.3 17.6 23.5 171.6 5.9 20.8] 23.8 23.8 28.6 14.3 9.5 37.2
I £CHAF 3 3 3 1 |10 4778 6 1 1 |20 7771 9 Y T2 30
3-1d.5,10 { 30.¢ 30.0 30.0 10.0 17.9] 20.0 40.0 30.0 50 5.0 35.1] 23.3 36.7 30.0 3.3 6.7 26.5
o FAERE 2 1 1] 4 1 1 1173 P R T I
3-146 50.0 25.0 25.0 7.1 33.3 33.3 33.3 5.3] 28.6 14.3 143 14.3 28.6 6.2
NV &SURFE 2 3 5 5 2111 475 T2 T3 T s 8§ 7 8 3|32
8.9 11.8 17.6 29.4 29.4 11.8 30.41 26.7 33.3 13.3 20.0 6.7 26.3] 18.8 25.0 21.9 25.0 9.4 28.3
VE B # : 11 |2 1 1] 2
3-4 50.0 50.0 3.5 50.0 50.0 1.8
&% 11 13 17 8 1 5 14 11 12 9 5 57 25 30 29 17 12 113
ﬂ;$ 19.6 232 304 14.3 125 100.0 246 298 211 15.8 8.8 100.0 221 265 257 15.0 10.6 100.0
80;
7 1— =7 Ni=48
— & N2=46
0 """" 26 N3=2196
- M
50 '
40

30MM\”\«J

20;

10;

e

14

24F

35

A%

54F

R 1= 10.8(11.80} R 1= 0.2(15.43) R 1= 3.7(13.83} R 1= 2.9011.25) R1= 4.6(8.71) R 1= 7.8(7.28)
R 2= 12.3(10.55) R 2= -0.6(12.68} R 2= 6.3(10.81} R 2= 3.6( 8.52} R2=  7.000.11) R2= 6.1(9.28)
R 3= 10.5(13.03) R 3=  0.0{(14.40) R 3= 3.3{12.95) R 3= 5.1{8.79) R 3= 6.5{9.39) R 3= 8.7(8.16)
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2585 - R ERMDRBED R ZFY (S612K)
B A (%) & HEh R
MBEE 53F ZF _ Y
AMREEE =m ht B BF E[SH|E Bk B BF K |5 FE $ BT K | A5
3 2 y 2 2 2 2
! BEPME 100.0 3.6 100.0 l._§
2 cEPHB
- . T ] i 2 R S I I
8- At il 25.0 25,0 25.0 25.0 7.1 50.0 50.0 3.6 16.7 33.3 33.3 16.7 5.4
- M RE:] 3 4 6 1 14 5 5 7 1 18 8 9 13 2 32
3-1d Lo<yH 21.4 28.6 42.9 7.1 25.0] 27.8 27.8 38.9 546 32.1] 26.0 28.1 40.6 6.3 28. 6
— o ] 5 1 2 3 11 3 7 2 12 8 1 9 5 23
8-2 g SR E 45.5 9.1 18.2 21.3 19.6] 25.0 58.3 16.7 21.4] 34.8 4.3 391 21.7 20.5_
- = 2 2 2 2
-4 B o® A 100.0 3.6 100.0 1.8
_ . 1 1 1 1
4 Lict-h & 100.0 1.8 100.0 0.9
! 1 1 1 1 1 1 2
5 LomyE 100.0 1.8 100.0 1.8] 50.0 50.0 1.8
6 EhohdEt
- ] 1 1 1 2 3 1 2 1 4
1 L wenEl 100.0 1.8] 33.3 66.7 5.4] 25.0 50.0 25.0 3.6
L) 7 3 6 7 16 4 3 5 2 14 bi 9 12 2 30
8 EoDYH 18.8 37.5 43.8 28.6] 28.6 21.4 35.7 14.3 25.0] 23.3 30.0 40.0 6.7 26.8
< f 1 2 2 5 1 1 2 1 2 2 2 7
S [ETendl 20.0 40.0 40.0 8.9] 50.0 50.0 3.61 14.3 28.6 28.6 28.6 6.3
TE.] 1 1 2 1 1 2 1 3
10 FobYH 50.0 50.0 3.6 100.0 1.8 66.7 33.3 2.7
&5 13 13 21 7 2 56 14 13 23 5 1 56 271 26 44 12 3 N2
B3 232 232 375 125 36 1000 250 232 4if 89 18 1000 241 232 383 107 27 1000
BE A S (%) LR
FHREE _ BF _ ZF _ EES _
BB m Bt B BT B L w L b PFT BEIEHIE PLE F T & | EF
1 9484 F 5 1 3 3 12 4 2 9 2 17 9 3 12 5 29
1.2.3-2.7 41.7 8.3 25.0 25.0 21.4] 23.5 11.8 52.9 11.8 30.4] 31.0 10.3 41.4 171.2 25.9
0 FLHETF 4 5 7 1 17 5 7 7 1 20 9 12 14 2 37
3-1d.5.10 | 23.5 29.4 41.2 5.9 30.4] 25.0 35.0 350 5.0 35.71 24.3 32.4 131.8 5.4 33.0
m FAERF 1 1 1 1 4 1 1 1 3 1 2 2 1 1 7
3-146 25.0 25.0 25.0 250 7.1 33.3 33.3 33.3 5.41 14.3 28.6 28.6 143 14.3 6.3
IV &>URF 3 6 8 2 2 121 5 3 6 2 16 9 14 4 2 137
o 8.9 14.3 28.6 38.1 9.5 0.5 37.51 31.3 18.8 37.5 12.5 28.6] 21.6 24.3 37.8 10.8 65.4] 33.0
VHE R ¥ 2 2 2 2
3~4 100.0 3.6 100.0 1.8
&% 13 13 21 7 2 56 14 13 23 5 1 56 27 26 44 12 3 M2
BEE 232 232 375 125 36 1000 250 232 411 89 18 1000 241 232 393 107 27 1000
80
— BF Ni=46
— #&% N2=52
10— 2k N3=2196
60
> \ww
20 RN AR Rt
E = - = = . R = 5.5(11.89) R 1= 11.9( 6.02)
10 5 e R daonm Ro 000 A etem Re s Fen o)
1 R 10.503.00 3= 0.0(14.40) R 3= 3.3(12.95) R3= 5.1(9.79) R 3= 6.5(0.30) R3= 870810
I
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258 R -2 ERMDMBEEO R ZERY (S6224) .
M A (%) TR
EREEE 57 : EF - HEAH
ARER = F ® br E|&H|IE ®F b &oF E ||| & FE & &F & | /i
34 y 1 1 1 1 1 1
_ 1 srrenil 100.0] 1.8 100. 0 1.8 50,0 500 218
Z " i i i i
) 2 cEPAL 100. 0 1.8 100.0 0.9
- (3 i 1 1 2 1 1 1 1 1 3
1 EHcAT 50.0 50.0 3.6 j00.0| 1.8 33.3 33.3 333 2.7
_ . 3 3 4 1 11 3 10 7 1 21 6 13 11 2 32
1d Lo<UH 27.3 273 36.4 9.1 20.0| 14.3 47.6 33.3 4.8 38.2| 18.8 40.6 34.4 6.3 29.1
_ - = j 2 4 1 1 8 4 4 2 2 12 6 4 6 3 1 20
-2 moendl 25.0 50.0 12.5 12.5| 14.5| 33.3 33.3 16.7 16.] 218 300 200 30.0 15.0 50| 182
34 Eo®m oM
4 Li=f-mh ¥
1 1 1
5 Lot Y& 100. 0 1.8 0.9
J 1 1 1 3 1 1 1 3
6 ehenil 333 333 33.3] 55 33.3 333 333 27
N i 1 1 1 2 1 4 1 3 1 5
7 Lizendl 100, 0 1.8| 25.0 50.0 25.0 7.30 200 60.0 20.0 4.5
4 1 9 3 17 2 1 7 2 1 13 6 2 16 5 1 30
8 [Eoo Y& 235 59 529 17.6 30,9l 15.4 7.7 53.8 154 7.7\ 23.6] 200 6.7 53.3 167 33| 213
= d 1 3 2 3 9 1 1 1 3 3 3 10
? ETemil 1.1 33.3 222 333 16.4 100. 0 1.8] 10.0 30.0 30.0 30.0] 9.1
) 1 1 2 2 1 2 3
10 EoBYE 10 1.8 100.0 3.6] 33.3 66.7 2.7
&84 1 7 22 9 6 55 10 17 20 6 2 55 21 24 A 15 8 110
kt$ 200 12.7 40.0 16.4 109 100.0 182 3098 364 109 36 100.0 19.1 218 313 136 73 100.0
14 A2 (%) ET AR
ARARE 57 : £7 : CET :
BUAFE = BF 7 fir K |Sifle $E & fF E|SH & $E b RF & | S&
1 vhBUF 2 2 4 1 2N 5 6 4 2 17 7 8 8 3 2 | 28
123-27 | 182 182 36.4 91 18.2] 200| 204 353 235 118 30.9| 25.0 28.6 28.6 10.7 1.1| 255
I FLHEF 4 3 5 1 13 3 10 9 1 23 7 13 13 2 36
3-14510 | 30.8 23.1 385 1.7 23.6| 13.0 43.5 301 4.3 41.8] 19.4 36.1 36.1 5.6 32.7
oI FAERF 1 1 2 1 5 1 1 1 1 2 2 6
2148 20.0 20.0 40.0 20.0] 9.1 100.0] 1.8 16.7 16.7 333 33.3| 5.5
WV &2 URF 5 1 12 5 3|26 2 1 7 3 1 14 7 2 19 8 4 140
8.9 19.2 3.8 46.2 192 11.5| 4730 143 7.1 50.0 21.4 7.1{ 255 17.5 50 475 20.0 10.0| 36.4
VHE BB
3-4 :
&8 11 7 22 9 6 55 10 17 20 6 2 55 21 24 4 15 8 110
kt% 200 12.7 400 164 109 1000 182 309 364 10.9 36 100.0 19.1 21.8 373 136 7.3 1000

105 5
60
50
40

R 1= 8.0(10.59)
R 2= 10.6(10.80)
7 R 3= 10.5(13.03)

-1.8(12.78) R 1=
2.3{13.65) R 2=
0.0(14.40) R 3=

1.4(12.42) R 1= 3.4(10.28)
9.9(12.058) R 2 8.3( 6.48)
3.3(12.85) R3= 6.1(9.78}

R 1=
R 2=
R 3=

5.3(13.12)
10.1( 5.97)
§.5( 8.39)

8.1(
10.5¢

R 1=
R 2=
R 3= 8.7(

e e aaaiaanaasassssnsnl T, T

15

35

4%

54

7.78)
6.47)
8.16)

e T T

64



aEH 69
258151 -2 FRDMBEED R ERE (S63£4K) _
B A (%) LF1gRR4R
AR B¥ ] % ) BRAa ]
AR = P.E b bF E| S| 5 Bt f T B[ EH|&m PE P PF & | i
2 1 1 1 1 2 1 1 1 3
! sEPmME 100. 0 1.8} 50.0 50.0 3.8 33.3 33.3 33.3 2.7
2 SEOHME
— (> j 1 1 2 4 2 1 2 5 1 2 1 3 2 9
8- @45 A 25.0 25.0 50.0 1.0 40.0 20.0 40.0 9.4{ 11.1 22.2 11.} 33.3 222 8.2
_ . ] 2 3 1 3 9 3 6 5 4 18 5 9 6 7 27
3-1d Lo<K YR 22.2 33.3 11.1 33.3 15.8| 16.7 33.3 27.8 22.2 34.0/ 18.5 33.3 22.2 259 24.5
_ - = ] 2 5 1 4 12 2 1 2 2 7 4 3 6 19
3-2 w e mE 16.7 41.7 8.3 33.3 21,14 28.6 14.3 28.6 28.6 13.2] 21.1 31.6 15.8 31.6 17.3
- = g 1 1 2 1 3 1 2 1 4
3-4 B R A 100.0 1.8 66.7 33.3 5.7] 25.0 50.0 25.0 3.6
4 Li=f=h&E
NE.(] 1 1 2 1 1 1 2 3
5 Loty H 50.0 50.0 3.5 100.0 1.9 33.3 66.7 2.7
] 1 1 1 1
6 Ehehdl 100.0 1.8 100.0 0.9
. j 1 1 1 1
l L g4 al 100.0 1.8 100.0 0.9
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8 EooyH 7.1 28.6 42.9 21.4 24.6) 28.6 21.4 28.6 143 1.1 26.4] 17.9 250 357 11.9 3.6] 255
= j 2 4 1 7 1 2 3 2 4 1 3 |10
? ST /i 28.6 57.1 14.3 12.3 33.3 66.7 5.7 20.0 40.0 10.0 30.0 9.1
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&8 10 14 16 14 3 57 10 14 13 12 4 53 20 28 29 26 7 110
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BRBRE| _ k2 I 2 1 &% ]
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3-1d5,10 | 26.0 18.8 250 31.3 28.1] 15.8 31.6 26.3 26.3 35.8] 20.0 25.7 25.7 28.6 31.8
oI IFAEEF 1 2 2 5 2 1 2 5 1 2 4 2 110
3-14,6 20.0 40.0 40.0 8.8 40.0 20.0 40.0 9.4] 10.0 20.0 10.0 40.0 20.0 9.1
WV &E-URF 1 6 10 3 1 21 4 3 4 3 3 117 5 9 14 6 4 | 38
89 4.8 28.6 47.6 143 4.8 36.8] 23.5 1.6 23.5 116 11.6 32.11°13.2 23.7 36.8 15.8 10.5 34.5
ViE R # i 1 2 1 3 1 2 1 4
3-4 100.0 1.8 66.7 33.3 5.7 25.0 50.0 25.0 3.6
&8 10 14 16 14 57 10 14 13 12 4 53 20 28 29 26 7 110
HE 175 246 281 246 53 1000 1839 264 245 226 75 (000 182 255 264 236 64 1000
80:;
0_ — i?— m::g
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7 """ £{& N3=2196
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10 R 1=  9.1{10.58) R 1= -5.0(16.46) R 1= -3.9(17.35) R 1= 3.8(10.39) R1=  4.1(i5.28) R 1= 9.0(10.89)
R 2= 12.8( 8.78) R 2= 3.9(11.28) R2=  7.4(13.18) R 2= 7.3( 8.24) R2=  8.3(10.05) R 2= 11.2( 7.90)
1 R3= 10.5(13.09) R 3= 0.0(14.40) R 3= 3.3(12.95) R 3 5.1(8.79) R 3= 6.5(9.30) R 3= 8.7(8.16)
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